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5.
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Given below are two statements in ol is

l:lheilei:l as Assertion (A) :Liulnl‘lli;.,lgli:{],l:: 511: ;f I:“::]ER?

Assertion (A) : T!:: tl;:iﬂ:{:% I];?hu of waler decreases

el = alln a1 e
Reason (R) : The ﬂlnmsp;:e:i::";::::::;:
with altitude, »

Select the correct answer usin
Code - '
v{a) (A)is true but (R) is false.

(B) (A) is false but (K is true,

(¢) Both (A) and (R) are true and (R) is correct

explanation of (A).
(d) Both (A) and (R) are true but (R) is not correct
explanation of (A).

}‘ﬂlich of the following city/cities is/are not situated
n present day Afghanistan?

1. Ghazni 2. Fergana 3. Kandahar 4. Sﬂma?:kand :
f: ei;ct the correct answer from the code given below:

ode - .

(@) 2 and 4 (b) Only 1

(c) 2and 3 Ad) Only 4

What is the correct chronological order of the Sultans
of Sayyid d}mas% _ S
(1) Khizr Khan {2) Muhammad Shah

(3) Mubarak Shah. :
Select the correct answer from the code given below:
Code - ' _

(@ 1,3,4,2 () 1,4,2,3 .
48) 1,3,2,4 (d)1,2,3,4 -
A voltage of 15 volt is applied across a colour coded
carbon resistor with first, second and third rings of
brown, green and black colours. What is the current
flowing through the resistor?

(a) 3 ampere (b) 2 ampere
(¢) 1 ampere (d) None of the above

Consider the following types of erosion and arrange

increases

g the code given below:

these in correct sequence in terms of the increasing

order of soil loss from the field due to these types of

erosion - _
[. Gully erosion II. Splash crosion
[11. Rill erosion IV. Sheet erosion
Select the correct answer from the code given below-

(b) II, IV, 111,
{ ) 11l I I Wf ’u‘;ﬂ”",]“. v, 1
C o ALy TR

Consider the following statements with reference (o
omns

.E;['a] of India — : )
Attorney i sce during the pleasure of the Prime

1. He holds offi
Minister. ‘iillﬂd to the privileges of a Member of
He is not €0 A

(b) Only 2
_d) Both 1and 2

i A

(4) Ala-ud-Din Alam Shah

- AN H TEErd) o

GET IT ON
Google Play

e (A) ok gER Pl HROT (R) el 747 & -

::ﬁmmmﬁpﬂ E{1511: o S | vl Tqedl B, UF @
Faere Hedl & |

W{R}t'aﬁ-ﬂm‘a%mmgqﬁaﬁ@m%:

A o e @mE w O

G v [

R”E — .

(a) {h}m%ﬁlﬁ{mmgl

(b) (A) ared & g (R) Wl & |

(0) (A) ak (R) &FF wea # @l (R), (A) B &
] Hl E

(d) (A) 3w (R) S wed & g (R), (A) &1 8
ST S Bl ¥ |

. Prafafem 6 @ @9 W/® IWEY gOAW
s 3 fom w6 € /87 =
1. T 2. GEET 3. HER 4. HHIGE
A By T wme W WE SR F A B
o= - :

(a) 2 &iT 4 (b) Faat 1
(¢) 28f1% 3 (d) Haet 4
- AT F9 & Yool B WS BTG T4 87
(1) faw @™ (2) eI WE -

@) e e (4) AT I T

(b) 2 iR

) ﬁmﬁﬁaﬁwa%wwﬁmqaﬁmﬁm

W B T B qed 7
L arEsTferT

I, Hﬁ—cmmﬁm( ) L der o

W — “ﬂ“ﬁwwwﬁm_

@ IV, I, 1L, 11 b
(¢) IIL, 1L, 1, TV ::Id; ;} IIE gi

AR W e PR e

L& ey o)
2.9 e ey Eﬁmw;jﬁﬁ .

Page 2 of 32

TﬂﬁmWﬁEﬂg@Wt Iaiﬁlqﬁﬁﬁl
?iE_ i

(a) whaer | |

R e Emiw

—_ Oty
LT


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addal247

f+ The reason for a swimming pool o appear lesy eep
than the actual depth is -

(a) Reflection (b} 1

€} Refraction

8. Given below are two statements, in which one is
labelled as Assertion (A) and the other as Reason (I)-
Assertion (A) : “Five Eyes”
Alliance  of 5 countries including U.S.A.,
U.K.. Canada, Australia and New Zealand. —— —
Reason (R) : They share intelligence inputs
regarding threats to their countries’ interests through

a collective secret database called “Stone Ghost”.
Select the correct answer using the code given below-
Code - "

(a) (A) is true but (R) is false.
{b)} Both {A) and (R) are true but (R) is not correct
explanation of (A).
_{c} Both (A) and (R) are true and (R) is correct
explanation of (A).
(d) (A) is false but (R) is true.

Light scattering
(d) None of the above

8. Given below are two statements, in which one is
labelled as Assertion (A) and the other as Reason °

(R) -

Assertion (A) : Pulses, when included in
intercropping with cereals, act as
complimentary crops.

Reason (R} : Pulses with tap root system, do not
compete for nutrients and moisture
with cereals having fibrous root system.

Select the correct answer using the code given below-

Code -

(a) (A) is false but (R) is true.

(b) Bath (A) and (R) are true but (R) is not correct

explanation of (A).
(c) (A) is true but (R) is false.
ey Both (A) and (R) are true and (R) is correct
: explanation of (A).

10. Consider the following events and arange them in
correct chronological order starting From the earliest
Lo the last activity
(1) Discovery of pi meson
(Il) Discovery of Neutron
(1) Discovery of Blectron
(IV) Discovery ol Proton

Wy

Select the correct answer using the code Biven below:
Code -
(a) LTI, IV, 11 (b) 1, 1, 1, 1y
—t WL, IV, 10, I )Ly, 1L
[C-01] o
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oivemrbetow e Two statements, in which one is  11.
labelled as Assertion (A) and the other as Reason (R):
Assertion (A) : The strugeles in South Mrica
prepared Gandhiji to lead the National Movement.”

Reason (R) : Seeing the mﬂrtancy of Indians in
South Africa, Gandhiji was' convmced that the Indian

people would be ready for w and

sacrifice for a cause. 2R

Select the correct answer from the code given below:

Code -

(a) Both (A) and (R) are correct and (R) is correct
explanation of (A).

AB) (A) is correct but (R) is incorrect. '

(c) Both (A) and (R) are correct but (R) is not the
correct explanation of (A).

() (A) is incorrect but (R) is correct.

12. A sum invested at 7% simple interest per annum  12.

grows to ¥ 540 in 5 years. The same amount at 9%
simple interest per annum in 3 years will grow to be-

(a) T 450 (b) ¥ 520
(c) 420 ) % 508

13. Match Listd with ListJI and select the correct 13.

answer using the code given below -

List-I List-IT _
A. Jaya Varma Sinha . 1. Author of “Tales from
- -2 Banana Republic”
B. Manoje Nath 2. P.M. of Thailand
C. Srettha Thavisin 3. The first woman
= Chairperson of the
Railway Board
D. Dr. Mohamed Muizzu 4. President of Maldives
Code -

(a) A-4,B-1,C-2,D-3 (b) A-2,B-1,C3,D-4
(c) A-3,B-1,C-2,D4  (d) A-3,B-2,C-1,D-4
Out of the four given pairs below, how many of the
following pairs are correctly matched?

14.
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15. Consider the £ i
ollow b i
: mg statements with reference to

O5I11051Ls © - .

(1) If the semipermeable membrane is placed
between the solvent and solution, the solvent
molecules _m]l flow through the membrane from
pure solvent to the solution,

- (2) The process of flow of solvent is called as reverse

0smosis. o
Select the correct answer using the code given below:
{a¥'Both 1 and 2. (b) Only 1
(¢) Neither 1 nor 2 . (d) Only 2

16. (onsider the following statements with reference to
Uttar Pradesh Budget, 2023-24 -
|. The size of the Budget is ¥ 7,60,000 crore. %

__2/The Fiscal Deficit is estimated to be at T 84,883.16

crore. :
Select the correct answer using the code given below:
Code - ' '
(a) Both 1 and 2 7 Only 2
(c) Neither 1 nor 2 W) Only 1

17. Consider the following events and arrange them in

chronological order -
I C.R.Rao, the eminent Stati stician, passed away

II. Ustad Ali Zaki Haider, the Rudra Veena exponent,
passed away ' o

11T, Bindeshwar Pathak, father of public toilets in
India, passed away - :

V. M.S. Swaminathan, fathe
Revolution, passed away

r of India’s Green

Select the correct answer using the code given bglowﬂ
Code - ' '

(a) I, L 1L, IV (b) IV, II, L 1.~

() IV, I, IT, IIT JATILIL LIV,

g events of seed multiplication
lr‘__"____“

Consider the followin
:n correct chronological

stages and arrange these
order from earliest stage to last -
1. Breeder seed 11, Foundation seed

11, Certified seed V. Nucleus seed
¢ answer from the code given below-

16. SeR oW WwiE, 202324 F
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e ____._-—-—
[C-01]

- Page50f 32

TR E R


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Addal247

19. Given below are two statements, in which one is
‘I:';Ii{t;elled as Assertion (A) and the other as Reason
Assertion (A) : India is the largest producer of Jute

in the world.«”
~Reason (R) : India’s Jute production increased due
to Yellow Revolution.
Select the correct answer using the code given below-
Code -
(a) Both (A) and (R) are true but (R) is not correct
explanation of (A).
{A)is true but (R) is false.
(e) (A) is false but (R) is true. :
(d) Both (A) and (R) are true and (R} is the correct
explanation of (A).

20. Gwen below are two statements, in which one is

labelled as Assertion (A) and the other as Reason (R)-

Assertion (A) : Roscomos’s Luna-235 mission to
moon  was aimed at ensuring
guaranteed access to moorn.

: Russia and China fogether are leading

International Lunar Research Station

(ILRS) against U.S. led Astemis

Accord. 40

Select the correct answer from the code given below-
Code -
~A2) (A) is true but (R} is false.

Reason (R)

(b) Both (A) and (R) are true but (R) is not correct.

explanation of (A).

{c) Both {(A) and (R) are true and {R} is correct
explanation of (A).

(d) (A) is false but (R) i is true.

18.

20.
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22. Given below are two statements, in which one is 22 1 & Fo= R 1 & Ry U T AW (A
Jabelled as Assertion (A) and the other as Reason (R): R T BT DR (R) way T )
Assertion (A) : During the winter season, most part RIS UREVER il LU .
of India is dry. AT %56 Ear & |
Reason (R) : Most parts of the country are under ®): T 9o & A 2y ferepiar AT
influence of the northeast trade winds ;ﬁ?“ﬁ BRI & waTg
during the winter season. ¢ '
Gelect the cotTect answer using the code given below: A ﬁﬁ ™ HE Wl GEIIﬁw_ T UE weR B 79
Code- d (R) are true and (R} is the correct {Eh_]d N alm
h (A) an al (A)
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th{g}aﬂdfmﬂﬂme (A) (R}ﬁlﬁ"’im _
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23. -1 B A1 & AT AR T A &Y T

23. Match List-I with List—TI and select the correct

answer using the code given below:

T BT TG B GE SR g

List-I List-II -1 -
(Dance) (State) (=) . (vrea)
A.Bharatnatyam -] 1. Tamil Nadu A. TRETEAH 1. THETE,
B. Kuchipudi~ 3 2. Uttar Pradesh B. Eﬁﬁlﬁ 2. TR gL
C. Sattriya—Y 3. Andhra Pradesh C. T 3. 3T g
D. Kathak .2 4, Assam - D, HEEH 4. 34
Code - - ; T — ' '
a) A-1,B3,C-4,D2  (b) A3, B4, C-1. D2 " (a) A-1LB3,C4,D2  (b) A-3, B-4,C-1,D-2

() A-1,B4,C3,D-2  (d) A1, B-2,C4, D3
24.
Charkula dance of Ulttar Pradesh —
1. Itis a dance performed in the Awadh region of
Uttar Pradesh. o .
2. In this dance, veiled women balancing large multi-
tiered circular wooden pyramids on their heads
dance to songs about Krishna. s
Select the correct answer from the code given below:

Consider the following statements with reference to

24. gEv

(¢) A-1,B-4,C-3,D-2 (d) A-1, B-2, C-4, D-3

TEE & AwGdl T B wed # il

HyFl ) faar sifeg —

1. UE SR VoW & gy &= ¥ fFFar W aer o
=

2. 39 T4 ¥, uef =@ AfRem) o R W 98
TEwRE TeeR T @ fwfel @ Wyl
FYdl § AR Fon & Mdl W I B el

ﬁ%ﬁqwagﬁﬁﬁrwtﬁrwaﬁm—

Code - HE —
_{a¥Neither 1 nor 2 (b) Both 1 and 2 @A LA 2 (b) 1 vd 2 ST
(c) Only 1 (d) Only 2 (c) shae 1 (d) waa 2 :
25. If the 25% of October in a year is Thursday, the 25. gf fF=h a4 5§ 25 STEI B THIRN B, W o HEN
number of Mondays in that month is - # WAl $ e feadt snf?
(@) 3 2-‘1-; 191 (b) 4 {a) 3 ' (b) 4
A5 %’% ’ (d) None of the a}l:rnve (© 5 (d) SR e
26. Given below are two statements, in which one is  26. i) o v Ry g R v B i @A)

labelled as Assertion (A) and the other as Reason (R)-
Assertion (A) : The northern slopes of the Himalayas
have ‘a thicker - vegetation cover

S R BT BIOT (R) BT T & —
ARPUT (A) : %mam$ T e W gl

compared to the southern slopes” Tﬂ‘\ﬂ:lﬁ‘[ M7 &
Reason (R) : Southern slopes of Himalayas receive Freor (R) : e & Sl z@Et o T T
more rainfall than the northern slopes. \ T G T ¥ aifrg Tof SRl &)

Select the correct answer using the code given below: A faw ET‘T:' B VUGN FR TE SEe &7 TE?FT
Code - ' ﬁﬁ‘m
(a) Both (A) and (R) are true and (R) is the correct b ey

explanation of (A). @) (&) iR (R) 2R T § @R (R), (A) &7 ‘ﬁ'ﬁr

ABF(A) is false but (R) is true. CATERT T & |

(€) (A) is true but (R} is false.
(d) Both (A) and (R) are true but (R) is not the correct

explanation of (A).
[Cog —
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&) s & g ) e 2
(©) () w1 & vy (R) areren £

(d) (A) 3w (R) ETF'ﬁ #
99 € g (R), (A) 97 &)
TN e} HRT £ A)
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27. Given below are two statements, in which one is  27-

labelled as Assertion (A) and the other as Reason (R):

- Assertion (A) : Raja Ram Mohan Roy was the Editor

of “Sambad Kaumudi”, a Bengali weekly.

Reason (R) : His articles condemning the custom of

widow burning were published in it.

Select the correct answer using the code given below:
Code - :

. (@) Both (A) and (R) are true and (R) is correct

explanation of (A). ;

: '/(-b} Both (A) and (R) are true but (R) is not correct

: explanation of (A).
() (A) is true but (R) is false,

X{d) (A) is false but (R) is true. _ E‘EE
28. Match List-1 with List-Il and select the correct ~i28
answer using the code given below : ?]}'5
List-I List-IT i

(A) Futuh-us-Salatin (1) Firoz Shah Tughlag =
(B) Futuhat-i-Firoz Shahi (2) Abdul Malik Isami
(C) Tarikh-i-Firoz Shahi  (3) Amir Khusran
(D) Khazain-ul-Futuh -7 (4) Ziauddin Barani

- Code - i ~
(a) A-3,B-2,C-1,D-4 (b) A-1,B-3,C-4,D-2 *’ri,_

A€) A-2,B-1,C4,D3  (d) A-2,B4,C3,D-1 =
29. Given below are two statements, in which one is 29
labelled as Assertion (A) and the other as Reason (R): ===
Assertion (A) : A person travelling in a car with =
closed glass windows and doors is
safe from the lightening strike. ~~
Reason (R) : Actually a closed car behaves like a
hollow conductor, so charges cannot
enter inside the :;Eu’./”
Select the correct answer using the code given below:
Code - . ]
(a) (A) is false but (R) is true. _
(b) Both (A) and (R) are true but (R) is not correct
~ explanation of (A). _
Both (A) and (R) are true and (R) is correct
explanation of (A).
(d) (A) is true but (R) is false. ﬁ

30. With reference (0 the ‘Rhine River in Europe’, which <}30. '

i i 9
of the following stﬂfﬂrﬂEﬂHs is /are correct ,. &
1. Rhine river is an important pathway for industrial -

| activity in northern Germany. 30 2y
f Rotterdam is located at the mouth of the
2 Port O

S Fh::r:;: ::;e:ct answer using the code given below:
Code - L, A Only2
(a) Neither 110 " (d) Only 1

GET IT ON
Google Play
o Ry TG, T o S
ﬁaﬁmﬂnﬁj ﬁﬁm@wm_- {Rlﬁw%
et (A): "fare BE”, T dTC ST
o <reqTad <o X AIET T 1
W(R}:ﬁwmﬁaﬁnmaﬁﬁmm'ﬁ

b o g w89 Al
i Ry g @ W S @G A

@ qa) st ) 2 e # ST Q). W)
wET e € | :

®) () s ®) 2l wea & g R). (A) ) T
T el oAl B |

(c) (A) e & forg (R) 3reed

(d) (A) arTeT & g (R) el B |

. -] BT G-I Hforg wem A Ry 1y
O '

e B
A1 -1

' (A) BE-Sa—enad (1) feUe ¥ grers

(B) G- ThIarenel (2) siege Hfers gar
(C), —u—firaeEr  (3) :
(D) WaAT—ge—Ew (4) T

et ! :

(a) A-3,B-2,C-1,D4 (b) A-1,B-3,C4,D
(c) A-2,B-1,C4,D-3 -(d) A-2,B4,C-3,D
9 S wum R g € oH W wE @
AfAEweT (A) 3R g8 B HNUT (R) HET AT 8 ¢+

-2
l

A (A): 7= oY 9 ReefEddl o sl

el R W AT HYe 999 i
w&ﬁeﬁ%mﬁw
|
BT (R): UF 9 BR <y § @rel Ared &
' e T8RN S &, 3 99 oR &
=X qqe TE B gn &

ﬁﬁqwaﬁwmaﬂmﬁwmw

RE — .
(a) (A) 38T & fbg (R)weg &

(b) (A) 3R (R) SHT W # s '
T R Sl 2| 7 R). (4) # W@

(e) (A) 3R (R) BT -
ST YT | TS AR ®), (4) 1 W@

@ (4) ¥ & Ry R) v ¢

%mﬁﬁawmhm%mqﬂw
HEE—.

@=aar1ard2 : -

(c) 130% 2 2 {0} oot 2

(d) Faer 1 '

(c) Both 1 and 2 ; " Page 8 of 32
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GET IT ON -
Google Play

.

31. Consider the following statements with reference to
E:rdmma_ and choose the correct stalements about
(1) Rudrzu_rna was fourth independent rujer of
Kakatiya dynasty of Warangal.
(2) She defeated Pandyas of South Tamil Nadu
Eastern Ganga rulers of Orissa and Seuna H:IEES"-.'D

of De\fg'_iri.--l,n e
@) Only 1 (b) Neither 1 nor 2 JEJ
{c) Both 1 and 2 (d) Only2 C¥i

32. Which of the following statement/s is /are correct?

L First Agricultural University was established at
Pantnﬂgalf., Uttarakhand (erstwhile part of Uttar
Pradesh) in 1960, —

1. During 1901-1905, six agricultural colleges Wﬂl‘ﬁi

established at Kanpur, Pune, Sabour, Nagpur, £

Lyallpur and Coimbatore- rE‘i—
Code - H :":HE
(a) Neither I nor IT (b) Only I L7

(c) Only I _Ad) Both Iand TI
33. The 6" Schedule of the Indian Constitution is related

to the administration of Tribal areas of -

(a) Assam, Arunachal Pradesh, Tripura & Mizoram-=

(b) Assam, Tripura, Nagaland & Mizoram ES

(c) Assam, Nagaland, Meghalaya & Mizoram  Bx

: E i g
Ad) Assam, Meghalaya, Tripura & Mizoram s

34. Match List-I and List-IT and select the correct answér'
using the code given below —

List-I - List-I1
{Country) (Total Medals won -
in Hangzhou, Aslan |
Games-2023) L
A. China ~2 1. 190 0y
B. Japan 2.107 ¥
C. Republic of Korea 3.383 :.fj'
Code - I

(a) A3,B-2,C4,D-1  (b) A-2,B-1,C3,D4
() A-1,B-2,C4,D-3 (d) A-3,B4,C-1,D-2

35, Match List-I with List-IT and choose the correct
dnswer using the code given below :
List-1 List-IT
(A) Vitamin-C - Y {1) MNight blindness
(B) Falic Acid - (2) Beri-Beri
(C) Vitamin-A  — | (3) Anemia
(D) Vitamin-B1 « 2 (4) Scurvy
Code - _
(@) A-1,B-2,C4,D-3 (b} A4, B-3,C-1,D-2.
(¢) A-4,B-3,C-2,D-1  (d) A2, B-3,C-1, D-4
[C-01]

ey
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vd 9w 9N § Hhl HYE g — _
(1) &wr arcra @ wied am 1 Al wWaA
TS o |
@) SE T afterg @ TveE, e B g

fawar | -
(a) Faat 1
(e) 1 3w 2 5T

3. wgw & wed ¥ P Hom ) fFER BT

mﬁﬁlmﬁz
(d) Faa 2

32. fpforfae @ /@l § W B /W W
Y

L uﬁmgﬁﬁéaﬁmmqﬁw geRrEs (gF H
TR ye o faw) #, 1960 9, zermfie fHaT T
o | . :

1. 1901-1905 & 2R, HFYR, g0, WarR, AR,
dHE MR FEEcy § e Hi welldErerd
ELECREREIL .

%_.

(@) F arI=m &I

(c) Baa I

(b) @aa II
(d) 13 I ST

3. yrd W @ ol el ol @

S &= % e 3 g 287
(8) s, arevmeel e, BN g Maee
(b) @rrm, FAgRr, reivs 9 oA

(c) e, MTTelvs, FEves T Tl
(d) srem, fener, Ay 9 iR

34',@‘Iwﬁ*HﬁTﬁE¥Hﬂﬂ?ﬁﬁﬁqW@2ﬁ

XA Y WE TR BT G Hifog —

. ¥ERL A
(&) {3%131@ % We-2023

HIST USH] T e

A A 1.190 )

B. W 2. 107

C. Sifear O 3. 383

D. Ira 4.188

Te —

(a) A-3, B-2, C4, D-1

(b) A2, B-1, C-
(€} A-1,B-2,C4, D3 ,B-1,C-3, D4

(d) A-3, B4, C-1, D2

. ST 9 119 e B o 4t g T

%E P IR T W g

W’I qﬁ_n
() B (1) ey
(C) ferfiF-a (3) 3T
D) Retfrr By (4) <t

(@) A-1, B-2,C4, D23

b 3 c
{G} ,ﬂi._g!_’ B‘ET C—Q, D_,]_ ': } A"q"r B 3‘1 C ]-| D-2

(d) A2, B-3,C-1, D-4

LT
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36. What is correct in the following statement/s with ~ 36.
" reference to Uttar Pradesh?
(A) Age has been determined in Pre-primary
education as 3 to 5 years. X-
(B) Age has been determined in Primary education as
6o 11 years. |~

Select the correct answer from the following code ;

Code - !
Ay Only B . (b) Only A
(e} Neither A nor B (d) Both A and B

37. Consider the important events of coal mining in India ~ 37.
and arrange these in correct chronelogical order
starting from the earliest 1o the Tast activity -

I First production of coal in Ranigan;

IT. Establishment of Coal Tndia Lid. (CI7.

I Nationalisation of coal nincs

1V, Establishment of Natienal Coal Development
Corporation (NCDRC)

Seledt the correct answer using the code given belin
Code -
(a) 101, 1, 11, IV, (b) LN NTW

{j.C:I LN 1Y (@) 1.1V, LT

38. Given below are two statements, i which one s
Tabelled as Assertion (A and the other as Boaen
(R) -

Assertion (A) : The equatorial forest Bome is the
biome with the densest and highest brompiss,
Reason (R) : There is high rinfall and high
emperture throwghuut the yeur i e
equatorial forest region. =
Select the correct answer using the code ziven below:
Code - '
(a) (A)is False but (R) 12 true. ‘
oth (A) and (R) are true and (R} s correct
explanation of (A
(e) (A) is true but (R) is false. .
(d) Both (A) and (R) are true but (R) 15 not comrect
explanation of (A).

3 h onsider the follo

4nkim Chandra Chattopadhyay: .
S the first graduate of Calcutta University.
1. He was ;

5 ~Gjtaram’ W

a5 his last Novel.

.or néing the code given below:
rrect ATLEW el
Jelect the €@
Code - i (b) Neither 1 nor 2
(a) Both 1208~ (d) Only 2

as.

GET IT ON
Google Play

o wiw @ gt § Frafafe s/ FeE A
a7 el & /87 |
(A) TF weifie RET @ arg 39 5 o FEiRT E
(B) TR R @ arg 6 11 ¥ PeiRa #
59 foy T s 9 99 W gAY

E—.“E_._
(a) #a5 B (b) Faa A
(e)amATTER (d) A 3l B THI!

ape # FAT @9 W SEeny mensll ot RreEm
P e o= A8 wrETEET U wEier B,
T TES A w7 ] aiaim aw -

| <=3 o g ORI Aeacl

W, = o s (CIL) @1 T

NI, @t 2727 &7 IR

IV e v B B (NCDO) ) SR
Srar fEeomn g T OUNTT WO R U8 GR W

B A
He —
(o) HLLILIV (B} 111111, 1%
fe) 1O 1w () Ly, 1L N

By gy @i oan A rant oy nh MPERE (A)

GO O L G IR e O

ST (A DS T LI AT AT S TR SRR

AL ATAD B ST
QRE (R TINN e sh  T  Jae gt o
FEE LTSI AT |

£ 13- P At ) O €19 A O < £ e £ ) 11

AT Hel

o -

(a) 1A) #5002 =] (R) 548 2|

(b) (A) T (R) M1 Fed & au1 (R), (A) #1 &/
et wmial o

{c) (A) w4 § 9= (R) ored B

(d) (A) 1 (R) T & # &g (R), (A) &1 wel
e el ol 8

wine statements with refersnce o 39- B[FH I FCCEAE & He | Frefaiag sy

gy fum Srag -
1. 98 Saod [MWETeT © mm wEs o
2. HIONHA AP AT TR o7 |

A Y TN WE @ W 9% w8 oy 357 19

g

we =

_4af 1 3R 2 g (b) = o 137 & 2
(c) 59« 1 (d) =7 2

iy 1
m% Page 10 of 32
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40. Consider the following events and arrange them in
chronological order with the help of code given
below:

]. First phase of Bank Natmnahsatmn ‘H.ﬁ

II. Second phase of Bank Nationalisation

I Establishment of Regional Rural Bank; “;flﬂﬂ
V. Establishment of NABARD

Code - e iy
(a) IV, 1L, III, T (b) IIL, I, 1, IV
) L IL, IL, IV {d}Ime

41. PIN in banking transaction i is known as -

(a) Postal Index Number (b) Permanent
i ; Tdentification Number
?)’Pﬂl'sml&l (d) None of the above
Identification Number - '

42. Which one of the following organisation declared
Varanasi its first Tutmsm and Cultural Capital in

GET IT ON
Google Play

a0. Ry TeeT T RN B gur 9@ A

41.

fiy U e @ w9EnT w §Y Elﬂ?-fﬂ?’:lTﬂ'\‘:fﬁ
aReT BT &,

I ﬁfﬁra%wfw.‘ﬂﬂww

I ¥ & WSIFHOT BT G A

I0L-&rfr grdier def @1 T

V. 1S @ Rl

T . :
(a) IV, IL IIL, 1 (b) 1L, I, 1, IV
ic]Lﬂlﬂw (d) I, I, TV, III
iF & o - éﬁ#fﬂﬁ{Pﬂﬂ}zﬁraﬁﬂW%—
: (B}Q’fﬁﬁﬁﬁw (b) T

42,

T

'{cjwq@ﬁﬁmm{d)mﬁﬁﬂﬁ

ﬁwﬁfﬁaﬁﬁﬁﬁ?ﬂwﬁaﬁzﬂzsﬁm
s Ee wiee aliR il e e

2[}2‘37 ' 'f&'ﬂﬁ
* (a), Shanghai CG- l:b:l G-20 . {ﬂ} ?TEFI_S;F HELAT W (b) S—200
g;rneratm Ky (T #15) _
. gamsatlnn : { d)
(c) ASEAN (d) UNESCO 3 ::* ;WW" eyl ;1? Wﬁi' iy
43. Given below are two_ statements, in which one is 39
Jabelled as Assertion (A) and the other as Reason (R): AREeE (A) IR TR ﬁ TR (R) EFEI Tm‘c'!;f %@_{ﬁ
Assertion (A) : Saline soils in India are not e (A) Tﬁ; FquiE. g;g%[
appropriate for cultivation. of crops, - T _
Reason (R) : Saline soils have high proportion of SR (R) : it gt # 7@ @ A s gﬁaﬂ";z
salt, largely because of dry climate - 2 forasl 1= PRI A Herdy
and poor drainage. ; | Wl (e T |
Select the correct answer using the code given below: 2 R Ty 3 f?‘i TEr IR B I B
ﬁ p—
Code -
{E;' Bemh (A) and (R) are true but {R) is not correct [a] (A) &R (R) T:f’FI"l T € fbmg (R), (A) 1 &
explanation of (A)- \ uc ﬁfr%w gl Y
(b) (A) is false but (R) is true. (b) (A) s & feg (R) 6 €1
() (A) is true but (R) is false. (€) (A)¥eg & fg (R) 9T &1 -
/Ld) Both (A) and (R) are true and (R) is the correct (d) (A) 3R (R) gﬁ‘f e % eﬁ? R), {A) & :.qff
el Tl
explanation of (A). _ et
; : -ul- e - e Yed WIEA @M B 'xtFav-’r fl
43, With reference to the Burhan-ul-Mulk Saadat Khaﬂ GYETT
which of the following statement/s isfare correct? ;‘?ﬁf WA DU/ T H Y BE—ET/ R
_(I1Saadat Khan was the fﬂ}lﬂld‘?r anndependentst:%te a Gﬁl'ﬁi L W R,
of Awadh.
(2) He took part in the conspiracy against the Sayyid (2) G‘ﬁ# Harg gl & fiog weua # HIT ﬁ'rm
' a7
Brothers.”™ w; S
Select the correct ;n.ls-ﬂw;rm using the code given below: RERERL BE DI 1jr‘I'Iﬁ1T ETd ?ﬁﬁ oo 3 9d9
Code - _ s e -_g
(a) Only 2 (b) Both 1 and 2 ) by
AerOnly 1 (d) Neither Inor2 () daar 1 ()= ar 147 & 2
o s e 0O
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45. Given below are two statements, in which one is 45 & &1 @A fay T F mﬂﬂﬁ? “11?"[“% :‘"
labelled as Assertion (A) and the other as Reason (R): AP (A) 3N Ei}."ﬁ' @ HR {5?:: = T
Assertion (A) 1 Rabi crops in India are AMFY (A) : IR LRI !ﬁli S
_ predominantly cultivated in north- o NREEGIN P ST B

westem states like Punjab and Haryana, - ' ET-I?_—W m i ST afsal |
Reason (R) : The success of Rabi crops in these . BRI (R): 57 oAl # @l B Eﬁ e !

states depends on the rain due to * : & S af¥erlt swEReE .-g o

estern tropical cyclones during winters, HRYT EF =Tl aieer % Y el €
Select the correct answer using the code given below: A9 R Y gg 9 WE IR BT TG B !
Code - e - i ; ' ; &
(a} Both (A) and (R) are true but (R) is not the correct I:;] (A) 8RR (R) T e & g (R), (A) CIRL

explanation of (A), '

T TR T |

(b} (A) is false but (R) is true. (b) (A) arrea ¥ fibeg (R) wewr ¥ |

_A€) (A) is true but (R) is false.

(€) (A) W & fobeg (R) areeg 2| _ &
(d) Both (A) and (R) are true and (R) is the correct (d) (A) sfw (R) =T W & 3R (R), (A) BT Hef
explanation of (A). i ’ ST HET B | e ) _
6.) With reference to “Kuzhass region in Russia”, which ~ 46. " & saarg &9 & w2 & freffag 7 9
of the following statement/s is/are correct? B w7/ 4 Wﬁ%ﬁ? 3 ] & :
. This region is rich in coal and iron ore, -+ L€ &5 3 SIS N ilo Spien 0 ¥ ﬂﬂﬁ ﬁﬁl e
2. Novosibirsk is an important industrial centre of 2. ’Hﬁl II'E ;E, &9 & P10 e 1 R
:_ thiszegion _ i : - A Ry Y gE oA @) owE SO BT au
Select the correct answer using the code given below: - P o : :
p—— 57, o ! T - ;
- 48) Both 1 and 2 (b) Only 2 (a) 1 afx 2 = (b) et 2
(c) Only 1 (d) Neither 1 nor2 (c) @ 1 daaim&2
47.

Two statements are given below, one is labelled as AT AR = wem
Assertion (A) and the other as Reason (R) :
Assertion (A) : In October 1940, Gandhiji gave call

w1y €, @ @Y e (A) sk
TN B BRI (R) FET T 2 -

mﬁﬂmﬂm);aﬂ%@?mmﬁrﬁtﬁrxﬁﬁ@qﬁ

for a limited Satyagraha by a few _ Y W gRI Hife wems @
selected individuals. SN g - HTEAT TR |
Reason (R) : The Satyagraha was kept limited soas PRV (R): T Heamrg gl it war war afs
to embrace Britain’s war efforts, & e T 3 7= v @y S¥ U |
Select the correct answer using the code given below: ﬁ'q ] e ﬁT_ I P WE TN BT A
Code - n By . _
: < e — Vi .
(a) Both (A) and (R) are true and (R) is correct : a“ , : _
_ explanation of (A). | }gﬁ?% ?:ﬁ W R (R)t{-_t"’t_:l B wE
| _ABJ (A) is true but (R) is f.'alsei i G 4 01': et (b (A) wew 2 g (R) e g
(c) Both (A? and (R) are true but (R) is not ¢ rrec (©) (A) &R {R}aﬁ:ﬁ'ﬂﬁ% T ®), &) &
explanation of (A). TR T oy ! ; :
(d) (A) is false but (R) is true. ) () 3§ e (R w2 .

48. Which statement is true regarding Bipin Chandra  48. fafas o A & e B Wy —— % 5
Pal? . TR : : :
?Hé was a Brahmo Samaj Leader and Social L% : AT o HHWNe oy |

Reformer. &' ' ; i 2.7 sfeur A oy '
9. A weekly magazine named New India was 1 Rt T e 5 RiECalco ST o

published. X - : ; S RE TR Y e gy -
Select the correct answer using the code given below: e — , | .

; ; a)q a1
Cﬂﬁeim'er 1 nor2 E:; gmlh 1 and 2 ::; ;T 82 B 1aR 23w
n el . a:
“(c) Only 2 ! (d) ey |
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GET IT ON
Google Play

49. Match List- E'm:”
ch List-I'with List-Tl and select the correct 49 i‘ﬁl—l B -1 A SR

answer using the code given below

List-I List-I1
(0il Refineries) (States)
A. Barauni—1- 1. Assam-
B. Bongaigaon—\ 2. Bihar
C. Bina 3. Gujarat
D. Koyali - 4. Madhya Pradesh
Code -

(a) A-2,B4,C-3,D-1  (b) A-3,B-1,C4,D-2
(c) A-1, B-2,C-3, D4~ :{ELA—Z, B-1,C-4,D-3 -

g e W W SR G —
I, -1

(&ret e Te) (€r=H)

A, TR L. 49

B. gt 2. fER

c. & 3. ToRH

D. @il 4, Weq eI

T |

(b) A-3, B-1,C4, D-2

(a) A-2,B-4,C-3,D-1
{d}ﬁ.’zBlC"’fD'_?'

(c) A-1, B-2,C-3, 1::4

[C-01]

Page 13 of 32

50, If %+§= 1 and —E+.%=1, then §+f will be 50, afy 2 +__. q afn +-= 1 % ﬂ"r +— A
equal o - : gmr i 3
(a) 0 —tb) 1 _ (a) 0 [h} P
(c) E (d) None of the above ©b (d) S # ¥ a#ef e
: ¥
51. Consider the fu]lnwing statements with reference to 51, rafe guw wglE Fe & TEH ﬁ. frreferfE
 “Nandini Krishak Samriddhi Yojana” - ot e fER #fe -
(1) This scheme includes mll::h cow breeds uf y (1) &% are ¥ wat s, fR. W w
Sahiwal, Gir, Tharparkar and Gangatiri only. Tpﬂ?ﬂﬁ ﬂﬁﬁ Hﬁ A TR A s Kl 11#
{:’2} Beneficiary must have at least one year Of catrlf.: | i .{2}%' + g e _ﬂ o '@i w S——-
rearing experience. 7 3 aqﬁ'ﬂ‘d 2T TIRY | :
Select thé correct answer. from the code E“’W pEAOw- e fau @e ¥ Wl TN g -
Code - e e~ '
_{a) Neither 1 nor 2 (b) Only 2 {a]T-[?I’Il?ITé’IZ (b) Haw 2
" (0) Only 1 (d) Both 1 and 2 (o) B 1 (d) =T 180 2
52. 15 bulbs each of 200 watt capacity in a Silkyara 52. ; Riepara g ¥ 200 dfc &I B 15 aod
tunnel are illuminated continuously for 24 hours. The TR 24 B @ A R W ﬁﬁ?—h Gl
consumption of electricity will be - CELn ﬁhT;'Fﬁ BI?
(a) 71 units' 72 units (a) 71 gfe (b) 72gfe
(€) 73 units (d) None of the above (c) 73 7fre (@) s & S
53. Consider the fn]lowmg Mughal Emperors and ;3_ Freforfer el el ) fER Hifrg qen TH
arrange them in chronological order : PIAHAGAR AR BIRAT - "
(I) Furrukhsiyar (1) Jahandar Shah () FEERER () WEER E
(IIT) Bahadur Shah (V) Muharmmad Shah (IIT) 98TSR I8 (IV) evTE e
Selct the correct answer using the code given below: A R T BE W 9E e gﬁ'rq :
Code - T -
AT LIV, (b) LIV, IL I (a) IL 1L, I, IV (b) I, IV, IL, TiI
(¢) IV 1.1, 111 (d) 1, T, IV, 11 _
Ha_____,___.__a——-—-—-—-— (e) IV, IL, I, IIT (d) L IIL IV, IT
| { MM AR
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54 Match List-1 with List-Tl and choose the correct
answer using the code given below —

List-1 List-I1
s Current Assets
). Merdhmndise:: ({) e
Turnover --’4,

(2) Liguid Assets
Current Liabilities

(B) Current Ra't‘i{n
3) Net Profit before Interest &Tmr.

(C) Acid Test

oo o Total Assets
ano
Cost of Goods sold
(D) Gross Capital W‘m
“Employed
Code -

_,.,EEI}A-‘#:BI:C?. D3 (b) A-2,B-1,C-3,D4.

() A3,B2,C1,D4  (d) A4, B3,C1 D2
55. Which among Ihe fu]lnwmg is the correct order

mentioned in Preamble of the Indian Constitution?
(a) Socialist, Secular, Sovereign, Democratic

_ABYSovereign, Socialist, Secular, Democratic’

(c) Secular, Socialist, S‘Dve.reign, Democratic

(d} Si:-vcmign, Secular, Socialist, Demncrati-:_

96. Which staternent is correct about Panchayati Raj?

(a) The Panchayat Samiti and Zila Parishad are
constituted with directly elected members, X~

(b) Minimum age is 18 years to contest the election
at the Panchayat level.

(c) Election of the Panchayati Raj Institutions is
conducted under the supervision of the State
Election Commission. "

(d) None of the above .

57. With reference to “AGMARK”,
fc]ltrwmg statement/s isfire correct?

which of the -

4. gl 1 gA-I | gAr SiE i_ L

56.

57. .

1. “AGMARK” is the sign of quality of égmultml =

oL @

GET IT ON
Google Play

we W WE 9T gRY -
. qlﬂ’{—ll
are] TR
(A) T T ) 5 =
e T
(B) e, AT @ e
o T W i
(C) 31T T AT (3}% |
ﬁﬂrﬂiﬂﬂﬁ A
(D). wwe R o @) ———
‘EEI'_

(b) A-2, B-1, C-3,D-4
(d) A-4, B-3,C-1,D-2

{a}ﬁ-clBlCuED?r
(c) A-3, B-2, C-1, D-4.

. YRS Ry ¥ Sfeefad WEl

TIH—HT 8?7
(a) <rToTaTdT, Ger—Fomde, ‘H‘TT W T,
e ;

(b) TR, T, e R,
TN e e

(€) Tr—fuer, FRTSTaTEl, HRgOT WY R,

(d) U w—ﬁ?ﬁa{', ?ﬂﬂﬁmﬁl,
%

TERE W ® Wed H e ar FU W 27

(a) Tare wffY s forer uRug woe PaifRe

. HEE W TRa B 1 -
(b}gamﬁmwmﬁﬁﬁﬁmmmaﬁ

1 Gy '
(c) TrEmel ¥ weersh w1
@ e ¥ B )
(d) =T % § i = K el
T & wEE Y, e west § 9
I,/ WE B/

roducts, <~ PR S B Torrer w7 e 2
2 (pjemﬁcate of “AGMARK” is issued by Food 2. "WHIS " B ST AR @ e g
Corporation of India. e T T
Select the correct answer using the code given e fRT T aE 9 ﬂﬁ S g —
below— @e —
Code -
(a) Both 1 and 2 5] Only 1 @ _:ﬁi:’ 2 2 [b} ey )
(c) Only 2 (d) Neither 1 nor 2 (e) dhaer 2 Damiardo -
58. With reference to Uttar Pradesh, which of the 58 STR Wau & Wl % PrefyRe I
following statement/s is/are correct? I/ T % Va1, A
1, Uttar Pradesh 18 divided into 9 economic regions, 1, 9T% 999 9 anRs CiEiR: o1 2 |
Uttar Pradesh has 11 agro-climatic zones. 7 G “a;g 11 ?lﬁ—?ﬂatrrg B #
= ¢ answer using the code given below- feg R T:FiT Lo i g e p—
Select the ciﬂff__.._— g —
Cﬂdﬂ i either 1 nor 2 %e - _
@ Both1and2 TN - @ LT (oyqa
oy’ (c) B 2 E 2
(c) Only 2 (d) Faer 1
Page 14 of 32 MWMHIH
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1. Mnrm;ubad is renowned {op n-|| di
: oy & and has
carved a niche for itself in the Fandicraii indust
throughout the world, . e

2. ?{Uiagdg;['i Special Economic Zone (SEZ) is the
irs in northern India develo ved by Ultar
Pradesh Government, — l B

Select the cortrect ¢ " usine the o |
oo dl'ISTNEl using the code Jgr.n.n.a‘n below:
(a) Dn}}' 1 ~ (b) Both 1 and 2

(c) Neither 1 nor 2 4d) Only2

60. Given below are two statements. One is labelled as  60-

Assertion (A) apﬂ Lh;: other as Reason (R) ;.
Assertion (A) : Jaunpur is known as Siraj-e-Hind, ~
Reason (R) :_Jau[}pur was a great centre of education
_ during ﬂlﬂ Shargi period. ~~
Select the correct answer using the code given below:
Code - £ ' e S
(a) (A) is true but (R) is false. !
(bLButh (A) and (R) are true and (R) is correct
explanation of (A). ' ®
(c) Both (A) gncl _[R) are true but (R) is not correct
 explanation of (A).
(d) (A) is false but (R) is true.
61. Rocket works on the principle of-the following :
(a) Energy Conservation (b) Bernoulli Theorem x
. Conservation of (d) Avpgadm;. Concept
Momentum - : 2
62 Regarding Punjab Merger,
statement is false? 2 =
\_Lar)/ On 29" March, 1849, the Govemnor General
" announced that the state. of Punjab had come 10

an end.. _ i
(b) All the territories of Maharaja Duleep Singh .

became part of the Indian British Empire.
(¢) Duleep Singh was given an annual pension of
$2,50,000.
(d) None of the above
63. 5 equivalent vertical lines
equidistant horizontal line
board cutting the 5 vertical
between any two consecutive
to that between any two consect

which of the following

are drawn on @
¢ are also drawn 00 the
lines and the distance
horizontal lines 1 equal
tjve vertical lines.

ing stat .
cments 50,

.E1.
* o -

62.

poard. 5 63

GET IT ON
Google Play

R

frferfEe i o faEeR —
13?@33@%#3%? # ol 91

ﬁﬁiﬂ‘*ﬁﬁ'ﬁﬂﬁl‘c’qmﬁ gt g e
TET S :
2. HRrETre Ay i 8 (SEZ) Fe A H
aﬁwﬁmwmﬁwﬁﬁwsm%i
ﬁ-ﬁﬂ@ﬂﬁ#ﬂaaﬂﬂﬁrwﬁﬁﬂ'

e — )
(a) @aa 1 - (b) 1 3i 2 EF1

©@adiawdz (P2

#rﬁa‘rmmﬁﬁw%wzﬁ?aﬁaswm)aﬂ?
a@%.aﬁw(k}ﬂrﬂw%“

' aifeert (A) ¢ ST P W—q—ﬁﬁ_%ﬁﬁ,ﬁ

£l

E W{R}‘:' iR STt el | T @ 7B TR

% wuH o : =
A9 Ry 77 He ¥ @ S AT '
Fe —

(@) (A) T ¥ g (R) @ 2 A
el

(b) (A) 3R (R) 2T e & SR R), (A)
o FRAT e

(@) (a) aie (R WL & R ), (4) CH

(d) (A) 3T & g (R) W B .
et 3 ¥ Wde fre REr | HE SR

(a) Tl Wl (b) aifer .. _
(e) 1M T TREVT (d) SMEITIET T TR
o B Frer & e o, Frfalad § 9 9 W0

- @29 A7, 1849 H1 AR weel BT SR W HGOT

- g s goa oY WA € TEE

| () i & Rig S <l e ada Bfew

HrHTe BT BT g9 M B | _

(¢) =ei g H12,50,000F afifes Yert & @ |

(d) STRYe § § IS A8 _

TH A1g U S5 FHIwE] SEEy YE @i 18 €
dIg T 5 SR YRl BT Fredt g 5 i
At Y off Wit T 8| Rl <t P SeRfeR
Yeml @ 9 A g Rl <) Praw dftrer Yl
& @ A 0 P WA E ) 5 = A T q@

E;Ld i‘? the maximum nu!}lhér of squares, thus o e <iE Ry ¥ :
a6 (b) 26 | o ib) 36 e
» (e) 30 (d) None of the above (c) 30 (d) ST H @ B T8
[Co— ——— Page 150032 : '
e ke 00 A
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G%With reference to “69" National Film Awards for
2021”, which of the following statement/s is/are
correct? '

1. “RRR" and “Gangubai Kathiawadi” bagged 5 and
6 National Awards tespectively. PQ

2. “Rocketry: The Nambi Effect” won the best
Feature Film Award,_— '

Select the cur{eht answer using the code given below:

Code - t&
(a) Neither lqgr 2 (b) Both 1 and 2
Aeronly2 YT (d) only 1

65. In reference to Mangalayaan launched by ISRO,  65.
consider the; following statements —
(D) Tt is also called as the Mars Orbiter Mission.
(I) It was launéhed on November 201 3}5 _
Select the corgect answer using the code given below:

Code-
(a) Neither Thit IT (b) Both T and I
(c) Only I Ay Only II
66. Which of the fﬂllcrmng statément/s is/are correct? 66.

1.ITC mcans"'il;le credit of Input Tax on the supphEs '
of nmds'-ﬁﬂd services or both received by a
reg;stered_persnn :
2 Ehglbl]ltf@t%lTC which may be as under-taxable
' supply, non-taxable supply. zero-rated supply

_ Code - :
(@) Both 1 and 2 ' (h}.DnlrE :
(¢) Neither 1nor2 . (d) Only 1

ok
67. Which of the: following statement/s is/are incorrect? 67

A. Part Tl on E}ndammta] Rights of the Constitution _
is based upon Bill of Rights of the US.A. —

GET IT ON \
Google Play '
64. "6of gt b .

ﬁmﬁ@am/ﬁwfﬁﬁﬁ"w%“ﬁ

B/8?
1, "R AR R e wieamars!” aﬁm

| 5 4R 6 W gEE i |
2, R 7 A ghAE A FAHS R B B

GBI Sl |

'ﬁﬁqwaiaaﬂmiﬁ?ﬂﬁw?ﬁrm

ﬁ_"_

@adrra @2 (b) 1 3R 2 <

(c) e 2 (d) St 1
TH EN dfF BT T Waerme @ Wed

Frafafag el o® far aifg -

() 59 7 siffdex e i wer wmar ¥

(I 8 7R 2013 # wiva fbar T o)

#ﬁﬁqwa@aﬂmiﬁﬂfﬁﬂﬁ?ﬁw
PIfTY : ' '

- |
@AW imE T (b) ISR AT
() Faa 1 (d) Baa 10

Frefafan sl § 9 sh—ar/9 w %,f.??
1. A A, 1 Fererd el ol e g ura

mﬁmﬁaﬁ?ﬁﬁnﬁma’m‘laﬁaﬁww
oo B 7

2%%@?&%&?%%%%&%—
Eﬁ?mmﬁﬁ?—ﬂﬂmaﬂ{ﬁ%@m
S

ﬁﬁf i -

(a) 1 3 2 S (b) Gerer 2

() ar 172 (d) et 1

Treferfa FET/ BN H B /Y e
Tore & /87

B. “Right to ﬁi}%,,-is a Fundamental Right under fae aife NEEH W e ;TT“[H 4uay. @
i f the Constitution. T .
E. D?;:;fifixll:;itu;an?;} th:z;(:;ete Fede:ra.] A IR E{;ﬂ%ﬂﬁ? 21;:% I=Tlg Y H
~ Constitution. r o : C. 9 W v o} e 8
. Fundamental Rights can be removed under the D, RART WRE @ Gl

? I:;aﬁnnslim. y | BRI o WA & ‘ﬁ‘lﬁ arlﬁzﬁrﬁlaﬁ

::;i;n-lyﬂ and C (b) OnlyCandD E:aﬁ_ﬂaﬂaﬁ? C ) Eﬁ‘qalc 3#\’ N |

() Only B /(dﬁjnlys CandD (c) Pac B @) 379 B, Catre b
i Page 16 £32 R T
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68. ﬂ‘iﬂ_l BT -1 W gﬁ‘ﬁﬁ_ﬁﬁﬂﬁ ferg

68. Match List-1 with List-TI and chm:-se the. correct

\
|
|

answer using the code given below:

T¢ HE W HEl 9T gHY —

List-I .
- List-11 e
(Name of Academy) Veapol: " (:q\_‘h_l 51 ) {ﬁ?ﬁ I )
. . Establishment
A, Rajyi Lalit Kala Acadeny, - plishment) , Ao @R o g, 1. 1986
Lucknow ) s TS ,
, B. Uttar Pradesh Sangeet Natak 2 1975 %‘2 B. 9T% W99 Wil Aew 2.1975
| ©.  Academy, Lucknow Q. £ arpTeHt, e :
C. Bhartendu Natya Acad&m}' 3. 1963 :‘f}g C. =g, Aed STRTEHI, 3. 1963
! Lucknow T |
| D. Ayodhya Shodh Samman 4. 1962 D. T S T, 4. 1962
Ayodhya . g
Code - @' RS 3 : ;
(b) A-3, B4, C-1,D-2

_faT A4,B3,C-2,D-1  (b) A-3, B4, C-1,D-2
() A4,B3,C-1,D-2  (d) A3, B-2,C-4,D-1 e
69. Given below are two statements; in which one

labelled as Asseruqn (A) and the other as Reason {Rg
~ Assertion (A) : The Constitution vests the Execun"itﬁij

Power of the Union in the President nt;ludiflﬁ 5

Reason (R) : The President of India is the
" Constitutional Head of the State—"
Select the correct answer using the code given below
Cnde -
th (A) and {R]
axplanatmn of (A). o
(b) Both (A) and (R) are true but (R) is not comegly
explanation of (A). ,
(c) (A) is false but (R) is true.
(d) (A) is true but (R) is false.

are trun: and (R} is-mrre%

69.

(a) ‘A-4, B3, C-2, D-1
(c) A-4,B3,C-1,D-2  (d) A3, B-2, C-4, D-1

S oo woe R ow # ReE W @ Eill

:ﬂﬁzaaﬁm}aﬁ?maﬁaﬂm(mmw%

SMB (A) wRYE, W @ St ik
- ﬂnﬁawﬁrﬁﬁﬁﬂm%l

W{m:nﬁﬂmmﬁmaﬂjﬁmﬁﬁﬁaﬁ_

2rar 21

'-?r%‘{ﬁq TG e P T 'tﬁ'ﬂﬁﬂﬂ? FT w

E_ i

(@) (&) ¥ ®) Eﬁ?ﬁ R ¥ iR ®). (A}-cs?r e
ST Bl E |

{h}i(maﬁ? (R) EHI wea & fog (R} (A)aﬁ aé‘r
T el B E |

(€)' (A) 3 & frg (R) Wed |

(@) (A) wea & g (R) o= B

.mﬁﬁa@ﬁmm—m?ﬁmﬁ'

7“ With reference to “Victoria Falls in Aﬂma w]m:h of 70
[ the following statement/s is/are correct? Y freferfa Rl ,«"ﬁ PoF HE & /&7
I 1. It is located on the I:rm—::ler of Zambmamb lﬁﬁﬁjﬁmaﬂ?ﬁmﬁ?ﬁﬂﬁmwaﬂﬁﬂﬁ%|
Mozambigque. _ax_h' 2. UE STl A= ﬂmﬁﬂmﬁl
2. It is situated onzam‘_b_c_m_ﬂ_l.yﬂr'-’f | RIEREN "'Ifl Er=acl P WEl TN AT
n belows® P

Select the correct answer using the code give

' 7. From his house, Lokesh went 15 kms to the north.

Then he turned ‘west and covered 10 kms. Then he
turned south and covered 5 kms. Finally turning to
east, he covered 10 kms. In whichdirection is he from

Code - ; e — : ' |
(a) Only 1 (b) Both 1 and 2 (a) dae 1 (b) 1 &% 2 & i
(eLoly 2 " (d) Neither 1 nor 2 (c) HaeT 2 . ()T AT 1ATE2
7. gieer o =) 3, 15 f6AL SR 91 o) e |

fire 78 offem FT R g1 ok 10 fEAn @)
a8 afir 91 oY qeT ofR 5 . =em | o 7 g
9 SN FEI, S 10 Rl B g0 T A1

s

his house? oo W ¥ ﬁ’_ﬁ foem % &2
(@) East (b) West _ (a) gd (b) g . |
_{&} North (d) None of the ah.ove (c) gmiv - (d) SR H ¥ HIE BT
P (T
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72. Given below are two statements, in which one is
labelled as Assertion (A) and the other as Reason (R):
Assertion (A) : Significant technical and institutional

 wEeayel APPSR
reforms in Indian agriculture are «— 'uf'r'{r"ﬂ'ﬂ g’—%:ﬁ GagichECinl] )
required to feed the growing population, AT el ¥ 9 WA ¥ fFam
Reason (R) : A significant number of farmers in PHIROT (R) : ¥RT & B8 = fore AR ot 3w
many parts in India still rely on monsoon .~ SR Sawar u PR -1 A
rains and natural soil fertility for agriculture. ' . W : =T =TI GG
Select the correct answer using the code given below: = fau g ¢me W W Bt . f
Code - : : HE — L
~44] Both (A) and (R) aré true and (R) is the correct (a) (A) 3R (R) T |4 § AR (R), (A) -’ﬁ e
explanation of (A). ' '

(b) (A) is true but (R) is false.
() (A) is false but (R) is true.
(d) Both (A) and (R) are true but

(R) is not the correct
* explanation of (A). :

73. Which state of India is renowned for its deposits of

T Bl €
(b) (A) wed ﬁﬁﬁ%mmgi !
(e} (A) ared (R) TeT i
(d) (A) 3T, (R) s w1 & fg (R), (A) Galinl
ST e wRen 81

73. WRE BT P A Ao T R, o, T i
limestone, gypsum, salt and zinc? _ © o @ e & forn a7 !
(a) Haryana AbTRajasthan (a) sfam (b) FTa=eT=
) (c) Gujarat (d} Punjab . A (c) Tomm ~ (d) oy - :
74. One fourth. of the ‘sum of the odd numbers greater  74. 149 &3 e 50 ¥ B faww Ty @ T @
than 14 but less than 50 is the square of - TE—AE gt g - : »
(@2 (b) 24 . (@2 (b) 24 @1 ¢ :
{c) 4 _ A& None of the above (€) 4 @1 (d) Sudiae ® & w18 wEf
75. With reference to the Gaza Strip, ‘which of the 75

following statement/s is/are correct?
L. It is bordered by Egypt—"
2. Tt is bordered by Israel—"

Select the garrect answer using the code given below-
Code - w2

TR ueEl & et #, frefaian @ /st o

H P/ FE R/ E
1. 5% 91 ey 9 el 2
2. THH! W TS O el 2

iE Ry 7w W W SR B T B —
- @e

(@) Only 1 (b) Neither 1 nor 2 () @t 1 _ (b)Y @1 B L
_{eyBoth 1 and 2 (d) Only2 | (¢) 1 &R 2 T (d) @ 2
76. Consider the following statements with reference to | 76+

Uttar Pradesh Global Investors Summit-2023 -
1. The Summit was held in Lucknow.

2. The Summit was inaugurated by the President of
India. _— o -

Select the correct answer using the code givenbelow:
© Code -

. fﬁmml _ . . _
TR T e el R s g

nly 1 (b) Neither 1 nor 2 iy {;} T 1 (h;} " ‘fﬁ 1 :ﬁ. |
(c) Only2 '(d) Both 1 and 2 () Faa 2 (@ 1 v o E‘F? 2
77. Which one of the following pairs (Visitable places - 7. =g w ( B
Districts of U.P.) is correctly matched?

(a) Devi Patan Temple — (b) Chinese Temple —

[+ iy .
e T~ b ) 4 ¢

Shravasti 72 Mahoba - @Sl T AR - (b) e s e
awani Imali, (d) Samaspur Bird GG Vih o

" Shaheed Memorial - Sanctuary — Amethi () W 3R, vl « o e
~ Fatehpur | ' . EIRF — tEg - Bl

Whi ne of the following (Boards in India -
= ?lgggu;}nm] is not correctly matched? -
(aY Coffee Board— = (b) Tea Board ~ Kolkata
Hyderahad

: = K::-::hli (d). Rubber Board —
: (E—)"Swms Board : ") Kottayam

R ¥ g e

T

. W s
o) PR g o
{ﬂ}mﬁﬁé~§a’m{h}mm'_ :

{clmmé-ﬁ&q w]?ﬁm; .

T
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79. Match List-l with List-Il and select the correct 79 qf‘ﬁ—l il _ﬁ?ﬂuﬂ i g ferer wiforg. T 4 1eY
answer from the code given below - T e w8 o fog
List-I L]St-“ ﬁ 1 TSI ﬁ_ﬂ
{Capital City) (Country)
Kam n - (aroTerY 9rER) (@)
o < Sy A, T 1. arer
B.Kigali ~| 2. Uganda ; 2' :
C. Kinshasa —{ 3. Sudan ; B. ﬁﬁmia;': &l 3-. ﬁgﬁ*{”gi
D. Khartoum _n, ‘4. Democratic Republic of the = - ,
i ; "? Congo e P 'D,EI?I"__ 4, ST e TR
Code - f.zc'r e
(a) A-1, B-2, C-4, D-'J. {b) A-1,B-2,C-3,D4 (a) A-1,B2,C4,D3 (b) An'.l., B-2, C-3,D-4 -
Ae) A-2,B-1,C4,D-3  (d) A-2, B-1,C-3,D-4 ' () A-2,B-1,C-4,D-3  (d) A-2,B-1,C- 3, D4
80. The correct sequence from north.to south of the . 80. uf¥erdl mre # faf &%, fo= =1e a1 Wi &, B
various passes called Ghats in the Western Ghat is — e W aferr w1 ge w9 8 —
(a) ‘Thal Ghat — Pal Ghat — Bhor Ghat ' (@) ot mTE — U €T —> {R HIE
(b) Thal Ghat — Bhor Ghat — Pal Ghat™ ] (b) o371 T —» T TTE — IE HIE
e Bhor Ghat — Thal Ghat — Pal Ghat (c) e e — 216 HIE, — e =9Ie
(d) Bhor. Ghat — Pal Ghat — Thal Ghat ) ,m, e — T §1E — o7d =11
| 81. Match List-I and List-IT and choose the correct 81 -1 sl -1 @1 gafera i T 4 R
answer using the code given below - M FE | I gh - - .
List-I - ‘List-II -1 o E-m
(Gold Medalists) (Game) (eaof gew. o) {'@aj ]
A. Annu Rani — | . 1. 5000 metre As Y - L5000#IeR
B. Parul Chaudhary 2. Javelin throw B. ureel AR : 2. ATl B
C. Tajinderpal Singh Toor . - 3. 10 m. air pistol C. oforeyarel e @ 3. m_wﬁ. T fUed
D. Palak Gulia 4. Shot put D. ver fer - 4.7l B
Code - : : e . :
() A2,B-1,C4,D-3 - (b) A-1,B-2,C4,D=3 (8) A2,B-1,C4,D-3  (b) A-1,B-2,C4,D-3
{c) A2, B4, C-3,D-1 AdyA-1.B:2,C3,D-4 (c) A2, B-4,C-3,D=1" . (d) A-1,B-2, C-3,D-4
82. 25 & ® TP #, 12 €1 WE 9gd 8, 15T
82. I a f 25 people, 12 read French, 15 read Be. 25 HE A, il B, 15
group © ped . : .
- English while 6 of them réad none of these’ two. How j:gﬁgm ?‘;ﬁ? m@iﬁ;‘: ERl E:Fﬁ iﬁﬁ
many of them read French and English both‘? ' N g;‘l _ e 9 T S
™0 . @0 (b) 8 P
(c) 4 {d} None of the above (0 4 L () TR o
183, Mateh List-I with List-II and choose the correct -~ 83. - & -1 il ﬁfﬂ%iﬁ DT e i &
answer using the code given below the lists : e fag 17 e &1 W Y W 9w gig —
List-I List-II - -
Product) isrict) @) (R 5
A. Kala Namak Rice“> 1. Pratapgarh A. I TG TG 1L GATE |
B. Desi Ghee—AA 2 Kushinagar B. =¥l 2. B
(oY O T, l 3. Siddharth Nagar C. afigar 3. fignf TR
D. Banana Fiber .-*2, 4. Auralya - D. Hell TR 4. Sﬁ'm
Code - p e —
(@) A2, B3, C:4, D-1  (B) AB.B2,C.l, D4 ' (a) A-2,B-3,C4,D-1  (b) A-3,B-2,C-1,D4
{cLA-3, B4, G- D2 (d) A4,B-3,C2,D] (c) A-3,B4,C-1,D-2 (d) A4, B-3,C-2,D-1
= o T ——— L
L-01) i Pngc 19 of 32 MN ” Illﬂl
7l (AT
A2 G o =%
- % P
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84. With reference to Tulsidas, which of the following
statement/s is/are correct?  oF | '
1. Tulsidas was born in a village named Rajapur in
Banda district. -
2. His wife’s name was Geetawaly-"(
Select the correct answer usmg the code given below:

Code -
(a) Only 2 (b) Both 1 and 2
) Only 1 (d) Neither 1 nor 2

85. If a clock gains four minutes every hour, the angles

traversed by the seconds hand in one minuté will be- *

(@) 360°

_Ae) 384°

86. Match List-I with List-II and choose the correct
answer using the codé given below the lists :

%b} 360.5°

~ {d) None of the ah-t}\re

- List-I List—II
A. Article-26- 1. Administration of Union
Territories .

B. Article-40—~\- 2: Secretariat of Parllament
ot ﬁm:::ln—g&.b_ 3. Freedom to manage religious

affairs
D. Article-239 4. Organisation of Village
b Panchayats
Code - !

{b) A-3, B4, C-1,D-2
(d) A-4,B-3,C-2,D-1

{MASB-4C—2D1
{¢]A331czn4

87. According to the 2011 Census of India, the

percentage of India’s urban population was -

~ (a) 30.7% ,bﬁhhl,z% _ o
f/{'c} 31.8% d) None of the above

E-B Match List-I and List-IT and wlec’t the correct answer’

using the code given below —

List-I List-II
(Mountain) (Continent)
A. Andes=Y 1. Europe
B. Altai —3 2. North America
C. Alps = \ 3. Asia
D. Appalachian ""L\ 4. South America
Code -

(b) A4, B-3,C2,D-1

I:H:l A-l, Baﬂ C-4, D—~2
(d) A-3, B4, C-1, ~1,D-2

} ﬁ-ii B- 3 C-—l -2

ain code, CGRPORATIDNS is wnttcn as.

rtal
P.?’ Ifina EZRDSNC'I then how is JUDICIAL written

84.

85. U&

B6.

'

88.

. (a) 30.7% (b) 31.2%

" (e) 31.8% (dlﬁqﬁﬂﬂﬁ#aﬂﬁﬂﬁi
S T T 5 g ARG T A R
T HZ W Hel TN @Iﬁq A

-1 -1 ¢
(i) ()
A. T 1. TR
2' ﬁ 2. FE R
: 3, qfErE
;W 4. 2l aiifer

'wﬁﬂﬁﬁﬁﬁﬂﬁﬁémﬂﬂ%mwm
B —

(a) 360° (b) 360.5°

(c) 384° (d) SuRIeT H W g =

C R A 2011 B ST B STER, ARa @l
TR S BT R o7 —

GET IT ON
Google Play &

%qﬁﬁ_,

wHe — ;'
{a}sz:rz (b) 1 3% 2 I /
(c) e 1 (dTarIwE 2

ﬂﬁu@ﬁﬂéﬁ4ﬁﬂﬁmﬁmﬁ%aﬁ

ﬁeﬁ—xas’rqﬁmﬂg#ﬁ‘ﬁaﬁﬁquﬁﬁ*
4 fag Y e BT TN HY WS O G

. -1 w11

A AgEHE-26 1. SR &A1 BT WA

B. argeaia—40 2. AT T AR
C.argee—98 3. il & wave B T
D. 3TeE=239 4. UM U=gEl @61 TS

(a) A-3, B-4, C2, D-1
() A-3,B-1, C-2, D-4

(b) A-3.B-4, C-1,D-2
(d) A4, B-3,C-2,D-1

(a) A;-l? B-S! (:_4‘ D-2

. (b) A4, B-3,C-2,D-1
(¢) A<4,B-3,C-1, D2

(d) A-3, B4, C-1, D-2

- %% fftew @ # CORPORATIONS

PROCTAROSNOI & g  foral Tl T o ol

pROCT e A

in that code® (b) UTIDLAIC ( UDICIAL, 3 ferar oTe? |

(a) H)II[‘::}ILM (d) None of the above f[:;%{;il%- E:; WUDDLR;C“\,}[ 1 W
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90. Given below are two statements, in which one is
labelled as Assertion (A) and the other as Reason (R):
Assertion (A) : The Bengal British Indian Society

was founded in 1843 as a result of
George Thompson's efforts.

Reason (R) : George Thumpsun was brought out
from England by Dwarkanath Tagore
to organise the political movement

Select the correct answer using the code given belcw

Code -

/,{ﬂ-) (A) is true but (R) is false.

(b) (A) is false but (R) is true.

(¢c) Both (A) and (R) are true and (R) is correct

exp]anaﬂun of (A).

(d) Both (A) and (R) are true but {R] is not currecl

explanation of (A). :

91. Find missing number in the following ﬁgure -

(@1
_Ae) 31
92. Consider the following statemens with reference to

National Book Fair -
1. It was orgamzed at Lucknow fmm September 22

to October 2, 2023. P

(d} Nr.:mﬂ of the abnve

-I 27t was organized by Government of India.

Select the correct answer from the code given below-

Code -
(a) Only 1
(c) Both 1 and 2

,,.(-M"Onl}r 2
(d) Neither 1 nor 2

| 93. Given below are two statements, in which one is

Assertion (A) and the other is Reason (R) —
Assertion (A) : Narges Mohammadi was awarded
' Nobel Peace Prize for 2023.

Reason (R) : She fights in the favour of freedom of
Press. >

Select the correct answer using the code gwen

below —

Code -

(a) (A) is false but (R} is true.

(b) Both (A) and (R) are true but (R)'is not correct

explanation of (ﬁ]
(¢) Both (A) and (R) are true and (R) is comect

explanation of (A).
sl (A) is true but (R) is false.

90.

GET IT ON
Google Play

‘rﬁﬁﬁ"fiﬁdlﬂfﬁ'ﬁ’ E fowd @ U @I
Hﬁﬁm{ﬁaﬂ?aﬁﬁﬁwm}ﬁrﬂm%
afmad (A)+ dme fftw T wrngd B
. C ener 1843 % # wifel offee @
T @ g |

FRIT (R): mwﬁwﬁ?ﬁ@

3 TR RIS afeer e
@ forg &g o)

ﬁﬁﬁﬂwaﬁaﬂmﬁﬂﬁrﬁm?ﬁﬁ

91.

. 92,

DI

ﬁ_

(a) (A}ﬂm%ﬁﬂ(mm gl

(b) (A) sraea & fbg (R) wed & :

(€) (A) st (R) TFF Wy § @i (R), (A) BT WAl
T el |

(d) (A) siiv (R) a1 wew € fvg (R), (A) #) HEI
T T8l FRAT Bl

ﬁmﬁ%ﬁﬁaﬁmmmaﬁﬁm~

4>
ZE
(@) 1. (b) 26.
(c) 31 (d) wsig & & ®1E TE

SIS e e @ e 4, PR et W o
R wifeg —

1.9822 ﬁwﬁzw 2023 ﬁzﬁmﬁ

srafore faram mar o)
2. TESGT HISH YT FRBN g har Tar o |

ﬁﬁﬁqﬂt{ﬁﬁ?@wﬁ-

@r_ 2
(a) et 1. (b) Bt 2
. (c) 1 &R 2 gMi (d=ar1rs2

- 119 &1 per Ry Y € R A ue aifteem (A)

IR T PR (R) & — -

P (A) : T T 712023 By A

iRt R © e fRar T
SR (R) 1 € I8 & eiwar & o § wred ¥

_ﬁ%ﬁ?mmmmﬁmﬁw_ﬁ_

H-E_

(@) () et & P (R wea B

O @ ok ® 2 5 & g ®). () #
AT &l B & |

(€) (4) 3R (R) 2 W # @ik (R), (A;a?r we
T HT & |

{d}(A}W%ﬁFQ(R)m%r
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94. Consider the following statemgm.g-[‘with reference to

Uttar Pradesh:

1. Ayurveda Mahotsava 2023 was or gdl]lﬁed in
Jhansi. e :

2. Ta) Mahotsava 2023 was organised in state capital,
Lucknow.

Select the correct answer from the ccade given below:

Code -

(a) Only 1 Meither 1nor2

() Only 2 (d) Both 1 and 2

95. Match List-I with List-II and select the correct
answer using the code given below:

List-T List—11
(Painting) (State)
A. Madhubani—"{ 1. Odisha
B. Lepakshi —% - 2. Maharashtra
C. Pattachitra “1 3. Andhra Pradesh
T D, Warli- 2 4, Bihar
Code -

(a) A4,B-1,C-2,D-3 - (b) A4, B-3, C-2, D-1

(c) A4,B-2,C-3,D-1 _Ih A4, B-3,C-1,D-2
96. Consider the following and arrange thes-e. in

m::reasmg ‘order of frequenﬂ}r

n X- I‘Et}fS (IT} Visible rays

" (IOI) Infrared rays (IV) Radio waves

Select the corfect answer using the code given belnw

Code-
(a) O, IO, IV, T _ APV, NLILT
(¢} I IL I, IV (d) IO, IL, I, IV

97. Consider the following statements with reference to
Uttar Pradesh Sangeet Natak Academy —
(1) It was established in the year 1965
{2) It is located at Varanasi.
Select the correct answer from the code given below=
Code -
(a) Only 1 by Neither 1 nor 2
(c) Both 1 and 2 (d) Only 2

98. Which of the following statement/s is/are correct?
I. The sugar industry was initially located in Uttar
Pradesh
II. The low yield of sugarcane, short crushing
5easons, unsat:sfactory location of industries

GET IT ON
Google Play

94, g wouw @ W A Pl el W faEw
#ifg e
1. A welewd 2023 Sl # s far T
oy |
zwqﬁmzﬂmmﬁqmﬁaﬁw 7
oy fapam T e |
#ﬁﬁqwaﬁﬁﬂﬁﬂﬂ?ﬁmaﬁﬁ:‘m—

®/E -
(@) e 1 B)aariam a2
(c) #aa 2 - (d) 1afw 2 51

95. W1 ®1 w11 | gafera @hiforg vd 9 feg Tg
ﬁﬁﬂﬂﬁ?ﬂﬂﬂﬁwaﬂwaﬁm :

ﬁ?ﬁ—lj -1
(=)

A, TEA 1, ST

B. el 2. AENIS

C. yefera 3. ST e

D. Gt 4, fER

E@ CLk

ia]h—d-Bl C-2,D-3

(b) A-4,B-3,C-2,D-1
(c) A4, B-2,C-3,D-1

(d) A-4, B-3,C-1,D-2

96, feifif T ReR PR w3 R B A

W W e Wi
0 T

ﬁ‘mﬁ
(I, araver fapent cmggm

mﬁﬂwwaﬂmﬂﬂﬂmﬁrwaﬂw
ifory - ;

%E — _ PREL
(a) In, I, IV, 1 (b) TV, 111, l'I, I
(e) LIL I IV (d) 100, 11, I, IV
97. T WY W AeE awed & Hed
.,ﬁmﬁmﬁﬁm‘rmﬁﬂmﬁﬁ'ﬂ~
(1) 2ol T @ 1965 4 g8 o1
(2) a5 Tl § Rerm 81 _
413 BT 0w ¥ 9 =R F g -
=
'[a}?}»‘aai-, _{h}:ra’rlﬂ'rfﬁz
(c) 13" 2 M (ddaew 2

ﬂﬂ-fgﬁgﬁaﬁ o /FeAl K W FE-E/E wd
v : )
I’cﬁ’[‘i‘ltﬁﬂﬁmﬂiqﬁi’mﬁﬁu'fﬂm

I T @ &9 9gw, o9 W w9, vErEi @)

Wwﬁﬁwﬁw

created problems in producing sugar, : wf & |
Code - e — "
(a) Neither Inor I (b) Only I BEE ST R0 (b) Sae 1
oth Tand 11 (d) Only II o (e) 18R 1 =5 (d)- e 11
the first to Use the word “Megapolis’? .99, e wreg WT m ey ﬁ-‘,iﬂﬁ' frar?
9. 0o was o (b) Taylor (a) =i rna'ﬁ:{ ':.h} e
() Jean Gat (d) None of the above (c) 2fag (d) BRI # W BiE T8
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100. Which one of the following is the correct sequence of ~ 100. iy # ?}1’ DI T PIEA HRHAD 1 o

adunmstratwa division during the Gupta Period?

(a) Bhukti — Vishaya — Vithi — Grama 10

(b) Vishaya — Bhukti —-Vithi — Grama o
A€} Vithi — Bhukti — Vishaya — Grama

(d) None of the above

101. Consider the following statements with reference to 101

-1mmmwmﬁmﬁﬁaﬂﬁawﬁmﬁﬂ

Scheduled areas —

L. The President of India notifies Schaduled’/;as

2. State with scheduled areas need to constitute a
Tribal Advisory Couneil. b il .

- Select the correct answer from the code given bclﬂw-

Code -
(a) Neither 1 nor 2 .(b) Only 2
_J€) Both 1 and 2 (d) Only 1

102. Consider the following statements with respect to 102,

Directive Principles of State Policy:
1. They are not enforceable by the Cnuns-""""
2. It shall be the duty of the State to apply these
[Principles in making laws. —
Select the correct answer using the code given below:
——t

_Code - :
‘(a) Only 1 by Both 1 and 2
{c) Only 2 " (d) Neither 1nor2

103. Match List-] with List-II and select the correct 103

_answer from the code given below -

List-I - List-II
(Coal Based Power Plant] (Located in St'ate)
A, Kahalgaon 1. Madhya Pradesh .
B. Khargone * 2. Bihar
C. Korba ! ‘3 Karnataka
D..Kﬁdgi'j% 4. Chhattisgarh
Code -

(c) A-1,B-2,C-3,D-4 _idyA.2 B-1, Fna
104, Consider the following stalements with reference to 104,

(a) A-2,B-1,C3,D-4 (b) A-1,B-2,CH4, 1;13”8

W g /7

(@) gy — fawg — i — 77

(b) famgy — e — A — 714

(e) &ifer — gfir — g — I

(d) SwdiET # § B A
Eﬂ%ﬁﬁ$wﬁﬁﬁ#ﬁwm¢ﬁﬁ%ﬁ

g1
zmﬁmaﬁﬁmﬁmmﬂaﬁaﬂaﬁﬂmw

Res w7 o ST Bl B

A Ry g g § e SR g -

ﬁ_
@adriadr2 o (b) @A 2

Q) 1aiweEEi 0 (d)@ae |

o @ A FETe % wed W, Pl
woet T frEr B -

1.4 ~graTerEl g v g

2. A o § 39 fagial o1 &1, $ Iod A
e B :
ﬁ%ﬁtﬁﬁmmmmwgﬁ?
ﬁ_

(@) el 1 {bllaﬂna‘ﬁﬁ

(c) Bt 2. o @Edr 2
ﬁ#ﬁ#ﬁ#ﬂﬁ@ﬁﬁ%ﬁﬁﬁﬂ%ﬁﬁq
{d%ﬂﬁﬁﬁ?ﬂﬁﬁm

(ﬂﬂwmﬁ?ﬁﬁmﬂ} {ﬂﬁrﬁmﬁﬂm

A.FEomig 1. Heq g

B. @M g 2. fasm

C. SR - 3. Tle®

‘D. gl 4, v

. e — 1 ; &

{a‘;AEBl C-3, D4 (b) A-1, B-2, C-4, D-3
(€) A-1,B-2,C-3,D-4  (d) A2, B-1,C4, D-3
YA B T A EfeRET wuEi o ﬁmw

1mﬂ§ﬁmﬁﬁuﬁ$maamaﬁﬁﬁw
zwﬁaaﬁmaﬁ?maﬁ ¥ :
W fawma R #) W{ﬁ e
- R AR W W we g

{H} 196 289 | - (o) Bag 1
() s & 17182 (d) @ge 2

coal - Fifee —
1. India is one of the world's leading producer -:a*f
coal. ~ - R 2
2. India has vast coal reserves in states like J harkhnnd
arid Chhattisgarh,
Select the correct answer from the cnde given below:
Code - ! HE —~
%th land 2 - ¢ (b) Only 1
(e} Neither 1 nor2 (d) Only 2
[C-01) E ‘ Page 23 of 32
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zﬁﬁﬂq = fay
105. Match List-I with List-Tl and jchoose the correct 105 @—I F -1 S
answer using the code given belpw - : i:-T el TN 4 i
List-T List-I1 .
(Important Days) . (Date) (qgfqt{?’[ e e {]3?
A, World Population Day—'2~ 1. March 03. A, R e L.
B. World Wildlife Day 2. July 11 B. fiza gwwfla fGaw 2. el 11
'C. World Ozone Day~ Y 3. April 07 whoC. o ol faE| 3. 39 07
D. World Health Day 4.September 16 ' D. fava vawen fmw 4. R 16
Code - B =
(@) A-2,B-1,C-3,D-4  (b) A-1,B-2,C-3,D4 J: (a)-A-2,B-1,C-3,D4  (b) A-1, B2, C-3, D-4
»-Ec}'A 2, B-1, C—ﬁ'i D-3

(d) A-1,B-3,C4,D-2 . "wt (c) A-2,B-1,C-4,D-3 (d) A-1,B-3,C4,D-2

106. With ef referenmtu the “Great Barrier Reef”, which of " "11115 e iR G @ wed H) ﬁ‘ﬁmﬁ G
the following statement/s isfare correct?

Jrﬁ BT /W T e g/
1. It is s;tuatwg the north-eastern coast of

1. %E sitgfern @ STR—udl G W Red '%I.
Australia. — EWMESGDWHT& ¥ ot 1
ZItlsmorethmﬁimhnsmlength “:: ﬁﬁqm@ﬁﬂﬁﬁ?ﬁwmﬂ

SCEIECt the correct answer using the code given below: ‘-E.*'l‘.. He —

ode - b 2.

(a) Neither 1 nor 2 .fﬁ,ButhlandZ 2 [a: {a};ﬂ;l;ﬂﬁ li:;:lihj:llﬁ _

(¢) Only2 @O0nly1 1%, S (©) watet 2 -
107. If the day before yesterday was Sunday, wha;__cl:g_* "‘"ﬁm? Iz T e F T o REr o, @ v &

will it be three days after the day after tomorrow? U T8 ueEe % o fRF gvE S ar &= g

unday - (b) Monday L (@) wfER : - (b) WrTEw .

(¢) Wednesday {d) None of the above :’:: (c) gﬂ‘cﬂ'x' (d) SRy & & ﬁﬁ'&F ;I'Eﬁ
108. Given below are two statements, in which one is Rﬁd"mﬁ-‘ﬁ% & weH Ry U ¥ Rl 9 ow @

labelled as Assertion (A) and other as Reason (R) -

L W(A}aﬂ?@%ﬁwm}mw%
Assertion (A) : A condition is a stipulation which g} BT (A) : TF T S e T e G%E!I @ forw
essential to the main purpose of the contract. (1Y

mﬁm UH I E s
Reason (R) : A breach of condition gives arightto - WT (R) : 361 U Seeig= afayfel &1 T
clmmdamages&ndnﬂtanghttﬂ ; ﬁ@ﬁ[ﬁﬂﬁﬂ% :[ﬁ?\'ﬂﬂ'ﬂ%r
repudiate the contract. SR S B SRR |
Select the correct answer. usm\gﬂmcﬂéh e given below: i "'ﬁﬁ f& e @ WT B el TR, Eos
Code - il %ﬁ'ﬂ .
(,-{ﬁﬁﬁjl i5 true but (R) is false. hipl ' qiﬁ.
(b) Both (A) and (R) are true but (R) is not cotrect i E:]} (A) ?ﬁ? 8 ﬁﬁ (R) 317 5|
explanation of (A). )] (Ei%m q_g?}%?ﬁ € g R), (A) B
(c) Both (A) and (R) are true and (R) is mn'ect _
explanation of (A). vl {ﬁ} (A) 3R (R) S-w £ i {R] (A) T W&
(d) (A) is false but (R) is true : i
— ' (ﬂliﬁ]fﬂﬂ?ﬂ%ﬁﬁlm}ﬁm%;
109. The cause of “Minamata” disease is - 109. “fymarer <pr 57 PRI & =
: Cadmi lluted ad polluted wat
. (a) w: L;uum pollute &J_ﬂ polluted water @ GIH ik =
= Mercury polluted (d) Chromium polluted " {e) e e R :
’&B’ water water _ ) 'ﬁﬁﬂ‘ ':'d}' ﬂ BRCE
110. With reference to the mechanical properties of solids,  110. g} & En ga—g : PRy
which of the following statement/s is/are curre:c!;‘i’h _ # 9y B W1 fﬁ% 2 % B
(1) The Young’s Modulus of rubber is greater than (1) Y& 7 i e o 3
that of steel. : 21 ' el 'ﬂ H arferes BT
(2) The stretching of a coil is determined by its Shear (2) forud W T R s
Modulus, Freifa gy &) - LT g
(a) Only2 . (b) Only 1 (a) e 2 Ab) B9 1 _
_4cY Both 1 and 2 (d) Neither 1 nor 2 : Ae) 1 &fiw 2 =5 @F D 1w
— T Page2dof3z T ———
[C-01] '

T


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

247

Adda

111. Census for thc first time |
during the British era iy, the

. (a) Lord Dufferin (b} Lord Lytton
Lord Mayo (d) None of the above
112. wn;h reference to G-20 Summit 2023, which one of
the follnwmg {Parhf:lpanng Countries - Participated

i India was conducted
tenure of -

Head) is not correctly matched?
(a) Argentina— Alberto  (b) Canada—luslm e
Femandez . Trudeau' - :
4. (©) Australia ~ Anthony  (d)Braczil  Joko Widodo

o~ Albanese

113. With reference to Presarvatmn of Wildlife in India,
' which of the following statemeént/s is/are correct?
1. The Wildlife (Protection) Act, 1972 provides legal

GET IT ON
Google Play

1. § Bifte @ ¥ Frefles ¥ 9 R

Wﬁuﬁaﬁmwﬂggpﬁ
(a) #id swlie
{c) <ifé &4 (d) TR 3 @ BIg B

112. fy-20 R Tea-2023 & wad Rrefafaa o

R ﬁmwﬁ{gﬁaﬂwﬁ Serferh g e
e w8t 87 _
(a) BHEAT — Sree (b) ST — ST @
e — ST
v 4 ot
(c) airferr — qveﬂ'-ﬁ (d) e

e
113Wﬁﬁﬁﬁq}$ﬁzﬁ;§§:ﬁﬁ Pt &
W BE-Ar/ Y oy ' :

1. aﬂ]t,ﬁ'amf’fﬂqﬂﬂﬂ sfafrE, 1972 Fae TR

framework for the protection of wild animals TRt 9 Rl B TG BIEH @raT HaT B
only. : = E
2. Project Elephant aim to conserve wild Asian o 2, Hiorae gRide T e e STl o
elephants only )4 Py s EIforaT T e Y &
(a) Only 1 B only2 s (a) B 1 (b) ot 2
_J;e’fﬁomlandﬂ . (d) Neither 1 nor 2 eh o) 1e 2 AT (d) = @1 177 8 2
114. The height of Ramésh is 5 fect. What will be %'_jm e % S s B W Eal g e
height of Ramesh in nanometer (nm)? - # farasr srfr? : E
152.5x107 nm (b) 152.5%10° nm (@) 152.5%107 *9Rier. () 152, :xm AR

(e} 152.5x10° nm. (d) None of the above.

115. Which one of the f{:-]luw:ng is the correct sequr.ur::e of
States with decreasing population df:ns:t}r acc
to the 2011 Census of India?
(a) West Bengal, Bihar,
Uttar Pradesh, Kerala
(¢) West Bengal, Bihar, Wm:]r
Kerala, Uttar Pradesh  Kerala,
116. Copsider the following statéments wnth reference to

India Smart City Conclave, 2023 —

Uttar Pradesh, Kerala [

Uttar Pradesh

=Tt was hosted by Indore city- d’f..' _
2. It was organised in the month of Sﬁzgtﬂﬂ::ﬁrhﬂluw ﬂ‘:‘q |
Select the correct answel from the gi o “'|I
Code - Gl
Aorowly i
E:::: gﬂ;h ; RS o (d) Neither 1 nor 2 "
niy

mg Acts in their chronological

117
{ answer f.['mn the code

*Armrange the follow
trder and select the ¢

vl
ty
f

{b) Bihar, West Bengal, ﬁ'};

West Bengal, . :‘h_.,,r

117,

(€) 152:5x10° =nfiey . (d) IR & ¥ k) aﬁ _

115—2ﬂ11‘ﬂ%ﬁ1ﬁﬂﬁﬁﬁmmfﬁﬂﬂﬂﬂﬂﬁﬁw

Bt e e = B 2 0 i 2 e R b e R

el 9 87 ‘

(a) gft=m @e, faew,  (b) e, uf¥=m 4,
(c) ufdem <, 98, - [d}ﬁmtuﬁaﬁw,
HE, TER UG He, 9O U -

16. 3R we Rl Fieem, 2023 & W= ﬁ

forfaria SUET W AR B — ;

1. ZHH AFart e e F w1 o)
2. TERp1 e ey ATE § ga o
AR Ry T g A IR A B

BE - . ~
(@) 1 aiv 2 g (b) et 1
(c) wael 2 id)#a*ll?n'a?;z

frfofaa aRFTAT & 998 FemTR
Wﬁ@;}‘ﬁ?ﬂ‘ﬂﬁmWﬁﬁﬁﬂﬁwaﬂ
ELE

given below: . ™ L | — e i

L Lex-LociAct  \gg8~ fon DL wE ST SR

I. Bengal Tenancy Act " B LI: 1. 31 @t Tl aififsamy
ML Age of Consent Act “q' E‘i-- Iv. e [Ty arfitrﬁraq
IV. Indian. Unwermt}r’ Act [q\ﬂflr' i HE —

Eﬂde . (b) IV, 1, IT and IIT T (@) L Iv, TR (b) IV, I, I 3R 1T
el @ madly VIO e, il il
e ot AR

__‘-,;.‘.'-:%--;- l Bq‘

Lt
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V8. Which of the following paits is not correctly
matched?

() Adam Smith - Wealth of Nations

(b) 1.M. Keynes - General Theory of Employment,
Interest and Money

() Gunnar Myrdal - Asian Drama

At Karl Marx - Principles of Political Economy :md-

Taxation

119, Which statement/s isfare correct re;,ardmg the bﬂﬂk
"Mirat-e-Sikandari'?

(1) There is a dﬂscnptmn of the happiness and

prosperity of the Kingdom of Sultan Mulunud
Begada of Gujarat.

(2) There is a description of pmper arrangen‘t,ent for
the security of trade routes.

Select the correct answer using the code given below:

Code - .
(a) Only 1 (b) Nz::ither 1 nor 2
AerBoth 1 and 2 {d) Only 2 -

120. Which of the fu]lomng Manganese pmdu-:.mg areais -

not located in I{amalaka‘?

(a) Bellary (b) Chikmagalur

(c) Shimoga A Srikakulam _
- 121 Which of the following counn;.afcounmtaus not part

‘of the Arabian Peninsula?’ .

1. Oman 2.Iraq 3. Kuwait 4. Syna

Select the correct answer from the code gwen below:

Code -

‘Ad] 2 and 4 both (b) 2 and 3 hqth

" Only4 . (onlyl =+ .
122, YWhich one of the following Payloads was used in

Chandrayaan-3 Mission to determine the clemental
composition (Mg, Al, Si, K, Ca, Ti, Fe) of lunar soil
and rocks around the lunar l;mdmg site?
# A - (b) LEA
(e) APXS ' (d) None of the above
123, Match List-I with List-II and choose the correct

answer using the code given below:
List=I

2 List-1T
{Banks) (Year of
' Foundation)
A. Allahabad Bank—\  1.1874
B. Punjab National Bank — 2. 1881
C. Awadh Commercial Banle 3. 1865
O\ D, The Alliance Bank of Shimla 4, 1894
~ Code-

_ax(a) A1, B2,C3,D4 | (b) A3 B4, €2, D-1
~(c) A-2,B-1,C-3, D4 A-4,B-3,C2,D-1

[C-01]
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Google Play

118. Ryiffae sivel # @ F w1 SieT wel Gl 6
&7
(@) Te+ fHy — do &ifw ATd
(b) ST I — TRE A o FEea,
TreE g Al
(e) TR HIEE — CREE T
(d) et wrerd — Tifues aife diferfede @mm
. g SqE
19, frem—y—Re=d’ yww & Wl B w1/
YA qa B /8 _
(1) 389 TONR B Ge Heqg ael © ey W
' Al W 90 | '
(Elwﬁmﬂ?’ﬁﬂ%wmaﬁﬁmﬂﬁiﬂ
L qT B ;
'%MWE@:WWW@WWW

Ea‘mfal _ (b) ¥ =7 17T &1 2

(@ 1aR2a4 - (d)FEw 2
120. 7t H 9§ B1-%1 Hi9 Souss & FAeE ¥
- e A #27 - _
(@) deemd ,{b}ﬁ'cwm@“

(e} R (d) =T

1@-W@H§ﬁﬁﬁﬂwxﬁ%{ﬂmmm

-%waﬁ%/%? !

0 1 S v 3@%3 4. i

SO AR Ry e g F ¥ v e W we B
kb

(A 25 455

(b) 2 3fi% 3 F=F
(c) Tae 4

(d) Bt 1

-WEW—sﬁaﬁﬁwﬁﬁvw%m_ﬁmﬁ

%aﬁ?a@ﬁ‘f%m&zﬁ‘ﬁﬁlﬁqmg,msu{
..%gFﬂ}ﬁWW$Wﬁwﬁﬁﬁa

mﬁmww
(@) ILSA {b) LRA
& (c) APxS o (d) SR § B =

"L BT -

ETI -1

(=

g-mﬁm 1.1874 | W
Cﬁtﬂmﬁw%‘aﬁ 2,1881
Dmmwﬁ?m#q; . 3.1865
ﬁam%mﬁmﬁ 4, 1894
'E:;AIBZC-S D-4 {h}A3B~4Cu2D1

hEEIC-SD.d, (d) A4, B-3, C-2, D-1

T
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124. With reference 1o the Mari
arme  Prod
Develqpnlent Authority (MPEDA) wli:?ct:?l
following statement/s is/are correct?
1. MPEDA was established in 1977, —

124, ﬂ'ﬂﬁ]

Export
of the

“firgte T wifteeer (MPEDA) &
ECHML AR R Sl Bty gt
8 /87 ‘

1. MPEDA @ Tyt 1972 % g% 21|

2. It is headquartered in Kolkatg :
Select tl s ; 2, ST JEATer Hrohel H E |
l::]gfar k 18 COorrect  answey using the .code given 49 Ry U e o FE T ﬂﬁm’ —
Code - . e — .
(@) Neither 1 nor 2 (b) Only 2 (a) & 1 71 & 2 (b) FaeT 2
y
ey Only 1 (d) Both 1 and 2 (c) a1 (d) 1 @it 2 2

125. Match List-I with List-II and select the correct 125 -1 B -1 W g ST T =" &

[C-01]

answer from the code given below:

ﬂgaﬁﬁiﬂr‘eﬁ'ﬂm -

List-I List-II -1 1T
(Schemes) : (Launching Year) (e )
A. P.M. Garib Kalyan Package . 1. 2014 ! A g weamr Yaal 1.2014
B. Muskan Scheme 2.2020 B = 22020
C. Mission Indradhanush—{ 3.2018 C. ' 3.2018
D. Pradhan Mantri Jan —— 4. 2021, . D m@ﬁm e 4j 2021

Arogya Yojana — 3
Code -
~Aa) A-2,B4,C:1,D-3-  (b) A-3,B-1,C4,D-2.
(c) A-4,B-3,C-2,D-1 | (d) A-1,B-2,C-3,D-4

—

o —

" (a) A2, B4,C-1,D3 - (b) A-3,B-1,C4,D-2

(c) A4, B-3,C-2,D-1 (d) A-1,B-2,C-3,D-4

126. Given below are two statements. One is labelled as 126, 1 =1 @or g g & | g @l DA (A) ¥R
Assertion (A) and the other as Reason (R) — : gET B BT (R) LR i el
Assertion (A) : Accounting is the language of e (A) : Sl = @ AT E |

business. E:
Reason (R) : Accounting provides all informatio
' néeeded by a businessman.

Select the correct answer using the code given below-

HNOT (R) : T @iaurdl gRT SavIEs wft
Y yE SN B

- i oy T e BT SUANT HY WE SN BT G
.qﬁﬁm;_ ’

Code - : _ _ AR A — .. 1 :
(a) Both {A} and (R) are t["llf_‘, but (R} is not the correct {ﬂ] (A} Gﬂ?_' (R) 2HET 9 _a: ﬁ?ﬁ (R), (A) Ed ﬂﬁ
< explanation of (A). " = e B i

(b) (A) iR

y‘Bmh (A) and (R) are true and (R) is the correct
explanation of (A). !
(c) (A)is false but (R) is true.
(d) (A) is true but (R) is false.
127. Kidney stones are formed due to -

127:

(R) EFT 929 & &R (R), (A) = HET .
. EETE| -

(€) (A) arvren @ fig (R) &0 2|
(d) (A) ¥ 2 foped (R) 39ed B |
o o g faEE e g9l 87

c e T stalization of a) T HT FHAE - (b) siTeETRE WU
(a) Dr:pus:uﬂn_ of F J'b; {)C[x}alate:ﬁ (a) _ l' ) _.
(¢) Precipitation of . (d) :’éﬂ‘;"l‘ﬁm ot (c) W @ srmETor  (d) 3T B B w7 W
Proteins | e : . : : S
128. Gi ' two statements, in which one is  128.4™1 T HUH Ry W ¥ foH W wwm @
Giyen below are W AR (A) SR TN BT BT (R) FaT 797 & -~

labelled as. Assertion (A) and the other 2s Reason

colour of Red Soil is due to the

) ;4
Assertion (A) : The de diffusion of iron rather than -

wi : :
to a high proportion of it. F't

. are generally poor in nitrogen,
Heno R s pThh:s};:hﬂmlls and humus,_~
Select the correct ansWer using the code given below-

SHFGIT (A) @ ool Y T 1 g B Te S
& IO IHD A TGN B SR BT 2|
EYAH BY t '
A Ry g e § 98 e ghy -
T,
(@) (A) 3R (R) ST wien & &k (R), (A) & wd
j ; ; ;

{E?[Ilfu-th (A) and (R) are true and (R) is eorrect . e &
explanation of (). (b) (A) 3T © fibegy (R) wewr &

(b) (A) is false but (R) 15 THE-
(e) (A)is true bul (R) s false.
({9 Both (A) and (R)

(c) {ﬁ]_ﬂﬁ'%ﬁ]ﬁ m}mﬁ-|
(d) (A) @R (R) gt 5o
ST TRl T £ |

explanation Df_{ﬂ}'
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129. With reference 1o the firstman made Ruby Laser, 129. s A Faff w4 ﬁfﬂ;‘;ﬁ geot # Fr A 9
which of the following statement/s is/are correct] ﬂ‘ﬁ:f /W YA el B = . —
(1) Ruby Laser produced pulses of blue light™< ) it SR+ et AT g = e FoFaT 91|

.(2 ) Wl AR A wel HBrer gof

(2) Ruby Laser produced pulses of red light. «” A Ry T # iy Y OE SR A
Select the correct answer using the code given below: iy :
Code - A
(@) Neither 1 nor 2 (b) Both 1 and2 (@)= dr 171 F2 (b) 1 =i 2 BT
_de¥ Only 2 (d) Only 1 _ (c) Paer 2 (d) mae 1
130. Match List-I with List-II and select the correct 130. {=f—I &1 T W gifers WIfog €@ e Ry
. answer using the code given below: ; Er=al T Eiks HEl ﬁﬁ%_ﬁ'@ﬂ -
List-I List-IT ' -1
(Festival) = (State/ Union Terntur_v] (;i:lﬂ (T /S T &)
A. Hornbill Festival™ \ 1. Andhra Pradesh A EHifeE v 1. 9 g
B. Sangai Festival ~ 7L~ 2. Manipur | : B. 9ME T 2, T
C. Flamingo Festival 3. Ladakh i C. YrwEd ud 3. @gad
D. Hemis Festival . 4, Nagaland © - p.Efmw . 4 TIRS
Code - : HE — ;
(a) A-1,B-3,C4,D-2  (b) A-2, B-1,C-3, D4 | {a) A-1,B-3, C4, D2 ﬂﬂ' A-2,B-1,C-3, D-4
_Ac) A4,B-2,C-1,D-3  (d)A4,B-3,C-1,D-2 . (¢) A-4,B2,C-1,D3 . (d) A4,B-3,C-1,D-2
13%. Which of the following isfare not a capital c:tyfcluas 131, frerfafiag # 9 wR—w1/9 09 & ﬁaﬁ 'n?ET Eil
of any country in Europe? - - e FE g /Y .
1. Riga 2. Rotterdam 3. Zagreb 4Zuneh-.,/ L& 2. ewdw  3umE 4 wgRa
Selact the correct answer from the code given beluw - T f{gag wme 7 9 Wl O B " a‘a‘tﬁm
Code - : , ; . HE — : :
(a) Only 1 (b) Earpd % @) Faw 1 L Ab) zaﬂ? 3
(c)-oly 4 (@2andd4 . (Q@EE4 (23R4

132. With reference to primitive subsistence agricultural 132, anfers Frafes oY gfy & w=of & ¥ - /9
practices, which of the pmrfs mfare correctly -, Wer,/Wie e g 8

matched? _ oY oefr i
Agricultural Practices ) Regiun N’ v i 'I-Hﬁ’i‘T L eRv-ud o
1. Thumming ] ; South-East Asia - oo e . : . dRTE
2. Milpg =T Mexico ' 3 'o'ﬁl‘fr - sfreient
3.Ladang . SriLanka :
Select the correct answer using the code given below: ' ?; fﬂ! A afd | W ST W A Ef?l[\aﬂf:‘
Code - ; . : ; : . ;
_ ka1, 2 and 3 _{b}_lﬂndZDl‘ll}f : (@ 1,23k 3 (b) Faat 13w 2
(c) Only 2. - (d) Only 1 - .+ (©) et 2 (d) et 1
}af"{:unﬁder the following staterments with reference to 133, '3ffmes ATy’ % el # ﬁﬂmﬁ' EEF’IT L
*Operation Ajay’ - ., [ ey -
1. External Affairs Minister S. Jaishankar announced 1. fey == Uy, TaEET 3[ qﬁcﬁgﬁ AT T
the launch of ‘Operation Ajay’. . I T AT 96| .
2. Tt was started to bring back Indians stranded in 2. 9% 9g U ToRied ¥ Y WNEHT By EfT':I'H
war-hit Jsrael. A % fore Wemy fpar T 7|
Select the correct answer using the code gwen beiﬂw A= faw HE B WA TN T IR af:
Code - : ; e =
oth 1 and 2 “0“1}*2 (a) 1 3w 2 2 (b) Beret 2
" (¢) Neither 1 nor 2 (d) Only1 () 7 5t 1 7T & 2 (d) Bt 1

[ﬂ—lr’/ % OO R
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134 Which one of the following pairs (Article - Provision)
is not correctly matched?

F,.(a;i'?;rm le 124 - Supreme Court to be a Court of

Record

(b) Article 132 - Appellate Jurisdiction of Supreme
Count

(c) Asticle 143 - Advisory Jurisdiction of Supreme
Court

(d) Article 136 - Special leave to appeal by the.
Supreme Court
135. Pichhwai painting is associated with which deity?
(a) Goddess Kali (b) Lord Shiva
}G}-Srinaﬂl jiKrishna {d) None of the above

136. Consider the following statements w1th reference to
- Simon Commission — ;
1. It made two visits to India.
2. Its second visit was from October 11, 1929 to April
13, 1930.
Select the correct answer usmg the cudf: given beluw
Code -

(a) Neither 1 nor 2 (b) Only 1
(c) Only 2 Ad¥yBoth 1 and 2
@[’hﬂ missi.ng'nurnb;r in 3, Sf‘Tl‘Biﬁid, 3 s | § R
(a) 80 S()75
(e} 117 - (d) None of the above
138. Which fraction comes next in the sequence?
1 1 3 -:__.5 EL.'?
L T e _
r,lﬂ-}”i (b) 12
32 ’ a5
(g) 11 . {d) 1_['{ £
34 ' A7

138. Which one of the following pairs (Institute - Place) is-

not correctly matched?

‘(a) Indian Grassland and Fodder Reseﬂrch Iusnmte -

Jhansi «~
(b) Indian Institute of Farming S}rste.m Research -
Varanasi
7~ (c) National Bureau of Agriculturally Impﬂrtan:
Micro organisms - Mau
J{d)-€entral Institute for Research on Goats -
: Makhdum . o
140. Which statement/s is/are true regarding Lord
.Cum)n'i‘

1. Establishing the English Empire on granite rock,_—~ .

2. Announcement of Calculta Cﬂrpurulrun Acte”

Select the correct answer using the code given below;

134, firer 3l 4 ¥ B T 4 @ — WA W

fer dF 820

(a) 3107 124 - Feeaw I B ARCE
wTTery BT

(b) 38T 132 - ToawH =T B Wed
arferaRTiar

{G?GITTB'&MS weme FaTerd @ g ot

(d) argedbe 136 - e =amaTEd @ @ i @
fere faem swmad

.ﬂﬁﬂ‘ﬂéﬁ;ﬂwﬁméﬂwﬁwﬁmi‘f?

(a) ot Prelt (b) s B
(c) #fimrer Wt /e (d) SRR ¥ W IS T
136. mﬁmﬁ%mﬁﬁﬁﬁﬁaﬁaﬁmﬂﬁﬁﬂ
HIfAY —
1. 39+ I gR ARG 61 8N |
2. ST T ST 11 3y, 1929 13 @7, 1930
a® W oar

A9 Ry 7y ge F T BN HE e R

7 — B ' ;

(a) 7 @r 1+ &1 2 (b) Faer 1 :
(@2 (d) 151k 2 BT
. 137.3,8,13,24, 41,70, ......... § G wEAT €

(a) 80 ()75

L (d) SuieT & & @i 8

- 138. argsW ¥ aFTel A BT ST 87 s

SEE Y . J o

"2', I,_'.I'a', E’ ...... .

(@) 2 (b) 12 12

32 ¥ urh a5
(c) 22 e . | L

34 y 7 .
139, e g (W — W) § ¥ S U

W A el &2 .
fa]m?ﬁwwqawargﬂwmﬁ Eigd
(b) TR P oMl SITHETT WA — Areroreft
(e) W HiY Sl geeie R — 7w
{d]a’:ﬁﬁw.maﬁﬁmmﬂ—w

14ﬂmﬁﬁ?$Wﬁﬁ?WK@[Wﬁm%/‘g?

L. 3Nl WET B AT W Teem q?wrrl’éra
FTEN|

2. Tt B aiferfEam 257 s
e R 17 gE &1 van o wd s g
EE._
tallaﬁ"xrzﬁ’t#r
(c) e 2

(b) = & 17T & 2
,id}a??l?-ri'

Code -
a2y Both 1 and 2 (b) Neither 1 nor 2
(¢) Only 2 (d) Only 1
[C-01]

&
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